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11.

12.
13.

14.

15.

16.

17.

b)

18.

19.

20.

0.28g of aluminium reacted completely with oxygen gas. Calculate the volume of oxygen used. (molar gas volume is

24000cm’ Al =2.7) (3mks)
Describe you would prepare a pure sample of zinc carbonate starting with zinc oxide. (3mks)
Equal volumes of 2m monobasic acids D and E were each reacted with excess magnesium ribbon. The table shows the
volumes of gas produced after 2 minutes. (4mks)
Acid Volume of gas (cm”)
D 30
E 70
Explain the difference in the volumes of gas produced. (2mks)

The thermo chemical equations below shows the formation of hydrogen peroxide under standard conditions;

Hy + One) -H205) AH®:= -133KJ mol”!

Hz(g)+ OZ(g) - HgOza) AHSJ =-188kJ I'I'lOl—1

Calculate the molar heat of vaporization of hydrogen peroxide. (2mks)
50cm’ of 1m magnesium sulphate was electrolysed using the set up represented by the diagram below;

T
Magnesium
Sulphate
Solution
I Identify the gas labeled K. Battery (%2 mk)
I Write an equation for the reaction that liberates gas J. (Imk)
III  What happens to the concentration of the magnesium sulphate during electrolysis. Explain (1%mk)
i)  What is the half life? (1mk)
ii) Xg of a radioactive element was reduced to 12.5g in 15.6years. Ifithe half life of the element is 5.2years. Calculate the
value of X. (2mks)
a) The diagram below shows a structure of water molgcules.

H\(S)/H H

Name the bonds labeled
R - (Yamk)
S- (Yamk)

Using dot (.) and cross (x)-diagram sho bonding in;
i)  Potassium chloride (K =19 Cl=17)
ii) Carbon tetrachloride
C=6 Cl=17
i) In an experiment to determine solubility of solid P in water at 25°C, the following results were obtained.
Mass of empty evaporating dish — 24.2¢g
Mass of evaporating dish + saturated solution = 40.4g
Mass of evaporating dish + dry solid P = 28.4¢g

Using the information above calculate the solubility of solid P at 25°C in g/100g of water. (2mks)
ii) State one precaution observed when carrying out the experiment in (i) above 1 (Imk)
i) Name two conditions that accelerate rusting. (Imk)
ii) State two ways rusting can be prevented. (2mks)

The molecular formular of a hydrocarbon C;Hs. The hydrocarbon can be converted into two other hydrocarbons as shown
below by the equation below.

Catalyst F
C';Hm —# CH4 + Substance G
Name i) the process shown by the equation above (1mk)
ii) Catalyst F (Imk)
iii) State one chemical test for substance G (Imk)

Page | 2







Chemistry 223/1,2,3

KIRINYAGA
SCHOOL BASED FORM 4 EXAMINATIONS JULY — AUGUST 2017
233/2
CHEMISTRYPAPER 2
(Theory)
TIME: 2 HRS
1. The figure below represents a section of the periodic table. Study it and answer questions (a) to (h). Note that the letters do
not represent the actual symbols of the elements.

A D
B G J F H| E
C I

a) Consider elements D. H and I

i)  Give the chemical family of these elements. (1 mk)
ii) How do their ionic size compare. (1mk)
iii) Compare and explain the reactivity of the three elements. (2mks)
b) i) Write the electronic configuration of;
Element H (Imk)
ii) The ion of element G. (Imk)
¢) A molecule of one of the elements is shown below. (2mks)
i) Identify this element from the section of the periodic table and give its actual symbol and name. (2mks)
ii) Explain why this element has a higher boiling point compared to that of oxygen. (2mks)
iii) Write an equation to show the reaction between the element named above with oxygen. (Imk)
iv) Predict the pH of the oxide of the above element when in water. Explain. (2mks)

2. The flow chart below shows some reactions starting with copper (II) nitrate. Study it and answer questions that follow.

Step 5
Copper (II) nitrate Copper (II) carbonate
ReagentM
Step 4 A Water
Copper (II) nitrate Dry hydrogen
gas
Step 1
ans Nitrogen (IV) oxide Copper (II) oxide oot
Step 3 Excess
[ .
Step 2| Water P [ T —
solution
Acidic products Deep blue
Tand V solution
a) i) State the condition necessary in step 1. (1mk)
ii) Identify (4mks)
Reagent M
Gas S
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Acidic products Tand V
iii) Write the formula of the complex ion formed in step 3. (Imk)

iv) Write the equations for the reaction in
Step 1
Step 2
3. a) The diagram below shows a set up that was used to prepare oxygen gas and passing it over a burning candle.
The experiment was allowed to run for some time.

Conical
T flask K
Sodium
peroxide
i) Name liquid X (1mk)
ii) Suggest the pH of the solution in conical flask K. Explain (2mks)
iii) Write an equation for the reaction taking place in the conical flask M. (1mk)
b) State and explain the two observations made when hydrogen sulphide is bubbled‘into the solution containing iron (III)
chloride. (2mks)
c¢) i) Describe a simple chemical test that can be used to distinguish between’carbon (IV) oxide and carbon (II) oxide gases.
(3mks)
ii) Give one use of carbon (II) oxide. (1Imk)

d) A form two student inverted a gas jar full of carbon (IV) oxide over water and sodium hydroxide solution as shown below.

.— Sodium
bydroxide
Explain the observations made. (2mks)
4. Study the flow chart below and-anhswer the question that follows:
S
Stepl | H,, Nickel
Step I Cl
Polymer P [« P e Q
Step Il
I
SubstanceT
StepV | H¥/KMnO
Substance
w Step VI Ay
a) Identify the following:
1) SUDSEANCE W ... e e (Imk)
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d)

1) GAS V.t t i e (Imk)
b) Name the processes involved in the following steps
TS 1 7<) (Imk)
1) SteP IIL. .o (Imk)
i)  What type of reaction is taking place in step V? (1mk)
ii) Draw the structure and give their [UPAC name for the following compounds.
Compound Structure
Q
P
(4mks)
Write the equation that took place in step III. (1mk)
Iron is obtained from hematite using a blast furnace shown in the diagram below;
/ Raw materials
Gaseous mlxture L
i 04
230°C | Brick lining
470°C
Y
1790°C
K_/Hot air
Hot air— Molten slag
Slag outlet
. Iron outlet
Molten iron
a) Name the four raw materials required for the production' of iron;
b) Write an equation for the reaction in which carbon(IV) oxide is converted into carbon (II) oxide. (Imk)
c¢) Explain why the temperature in the region marked"Y is higher than of the incoming air. (Imk)

d) State two physical properties of molten slag that-allows it to be separated from molten iron as shown above. (2mks)
e) Iron from the blast furnace contains about $§% carbon

i) Describe how the carbon content is reduced. (2mks)
ii) Why is it necessary to reduce the earbon content? (1Imk)
f)  Give a reason why the melting poirit'of iron obtained from the blast furnace is 120°C while that of pure iron is 1535%.
(1mk)
g) State two uses of steel. (2mks)

a) A student set up the apparatus as shown in the diagram below to prepare and collect dry ammonia gas.

Mixture of ammonium
chloride + moist calcium hydroxide
|

s Light board
i) Identify three mistakes in the set up and give a reason why each is mistake. (3mks)
ii) Name a suitable drying agent for ammonia. (1mk)
iii) Write an equation for the reaction that occurred when a mixture of ammonium chloride and calcium hydroxide was
heated. (1mk)
iv) Describe one chemical test for ammonia gas. (Imk)
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b) Ammonia gas is used to manufacture nitric (V) acid as shown below.

b)

Gases

L | Water

. Absorption : .
A%O?lfaa High pressure } | Cooling chamber]—Y') tower -
Unit 1 Unit 2 l Unit 3
i)  This process requires the use of a catalyst in which unit is the catalyst used? (1mk)
ii) Identify compound X and Y. (2mks)
iii) Using oxidation number explain why the conversion of ammonia to nitric (V) acid is called catalytic oxidation of
ammonia. (3mks)

iv) Ammonia reacts with nitric (v) acid to form ammonium nitrate fertilizer. Calculate the percentage composition of
nitrogen in ammonium nitrate. (N =14,0=16,H=1)

a) Below is a graph that was obtained when different concentrations of hydrochloric acid was reacted with equal amount of
calcium carbonate.

=_—

Volume of COZ

Time

The concentration of hydrochloric acid were 0.8M, 0.5M and-0.1M. The calcium carbonate was in powder form. Match the
graphs with concentrations.

Graph L. .. G (1mk)
Graph 11 (Imk)

A state of equilibrium between dichromate (VI) atid"chromate ions is established as shown in the equation below.

Cr207(aq) + 20H-(aq) \:" 2C]’O42_(aq)+ HzO(l)

Orange Yellow
i)  What is meant by dynamic equilibrium? (1mk)
ii) State and explain observation made-when a few pellets of potassium hydroxide are added to the equilibrium mixture.

(2mks)
An experiment was done using magnesium ribbon and dilute hydrochloric acid of different concentrations. The time needed
to produce 50cm” of the gas forevery experiment was recorded in the table below.

Conc. of HCL in Mol/litr¢ 2.0 1.75 1.50 | 1.25 1.00 0.75 0.50 0.25
Time in sec(s) 8.8 10.0 11.7 | 13.5 17.5 22.7 35.5 70.0
Sec':
L
i) Complete the table above. (2mks)
iii) Plot a graph of rateﬁ against concentration. (4mks)
i) Determine from your graph the concentration needed to produce 50cm? of hydrogen gas, when time is 15 seconds.
(1mk)
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CENTRAL KENYA NATIONAL SCHOOLS (CEKENAS)
22311

CHEMISTRY PAPER 1

JULY 2017

2 HOURS

FORM 4 END OF TERM 2 EVALUATION EXAM

1.The diagram below shows a non-luminous flame

a).
b).

a)
i).
ii).
b)

a)
b)

Region x

\ . Regiony

A wooden splint was placed across regions X and Y respectively. Draw labeled diagrams showing the effect observed when

wooden splint is placed across each region (2 mks)
It’s advisable to leave your flame in luminous flame state when not in
use. Explain (1 mk)
The table below shows PH values of solutions A, B, C and D
Solution PH
A 3.0
B 13.0
C 8.5
D 7.0
Identify a solution which has
More Hydrogen ions (1 mk)
More Hydroxide ions (1 mk)
Which solution will react with lead(ii) Oxide. Explain (2 mks)
a). State one factor that determines stability of an atom (1 mk)
b). Radioactive polonium — 216 decay as shown below
216 208
PO — Pb + Mx =nB
90 84
i). Find the value of M and n (1 mk)
ii). Ifafter 112 days /16 of polonium remained, calculate the half — life of polonium. (2 mks)
280cm3 of Nitrogen gas diffuse throughta porous plug in 70 seconds. How long will it take 400cm3 of Carbon (iv) Oxide gas
to pass through the same porous plug(C=12, N=14, 0=16) (3 mks)
A state of equilibrium between dichtomate (vi) and chromate ions is established as shown below
Cr,07(aq) +20Waq) =2 2Cr0*,(aq) + H,0(l)
Orange (Yellow)
What is meant by dynantic-equilibrium? (1 mk)
State and explain observation made, when a few pellets of Potassium Hydroxide are added to equilibrium mixture
(2 mks)

The diagram below represents large scale manufacture of hydrochloric acid
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I;e Hydrogen Gas

i)  State the role played by glass beads? (1 mk)
ii) Name B (1 mk)
iii) Chlorine reacts with hydrogen sulphide according to the equation below

H2S(g) + CI2(g) — 2HCI(g) + S(s)

From the equation above, identify the oxidising agent using oxidation numbers (2mks)

7. a). Define the following terms (2 mks)

i). Normal Salt
ii). Efflorescent Salt

b). State two disadvantages of evaporating a solution to dryness during crystallization (2 mks)
8. Write balanced chemical equations for effect of heat on the following salts (2 mks)
Na,Co; 10H,0(s) heat -
Pb(N05)2(s) heat —
9. 25cm’ of a solution of Potassium Carbonate, neutralized 26:8¢m’ 0.1M HCI. Calculate the molarity of the carbonate.
(3 mks)
10. Use bond energy value given below to answer question that follow
BONDS BOND/ENERGY vy/ml
H-H 432
c=C 610
C-C 346
C-H 413
i) Determine the enthalpy change for conversion of butene to butane by hydrogenation (3 mks)
ii) Sketch an energy level diagram for above enthalpy change. (2 mks)
11. a). Diamond is an allotrope.of‘carbon, distinguish between allotropes and isotopes (2 mks)
b). State two properties of graphite, that makes it a suitable electrode. (2 mks)
12. A sample of sodium chloride is contaminated with sulphur powder. Briefly explain how pure sample of sodium chloride can
be obtained from the mixture. (3 mks)

13. The diagram below shows a set up that was used to prepare pure oxygen gas

f.?:{}_ Hygrozen Perexide

IR

— Oxygen Gas

i) Name solid R (1 mk)
ii) What is the purpose of solid R (1 mk)
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14

a).

b).

15

16

17.

18.

19.

20.

a).

21

22

23

iii) Write balanced chemical equation for reaction in the flask. (1 mk)
. Aqueous copper(Il) sulphate was electrolyzed using the set up below
—_—
Battery
" Switch
_' ]_
Carbon elecwode A
i). When the switch was closed, a gas was produced at electrode B, which electrode is Anode? (*/, mk)
ii). Write the half equation for reaction at electrode B (*/, mk)
iii). State the observation at electrode A (1 mk)
If carbon dectrode is replaced with copper electrode; Write the half equation at Anode (1 mk)
. The empirical formulae of a compound is CH, and its molecular mass is 42
i)  What is the molecular formulae of this compound? (1 mk)
ii) To which group of hydrocarbons does the compound belong (1 mk)
iii) Draw the structural formulae of the fourth member of this series and give its IJPAC name (1 mk)
. The diagram below is used to show how ammonia gas reacts with Iron(ii) Chloride-solution
Ammonia |
gas
e
Iron (ll) Chrolide ——— 1 —__~ N Beaker
e
i)  State the observation made in beaker after a few>minutes (Imk)
ii) Explain why funnel is used to deliver the amithonia into solution (1 mk)
a). A mass of 40g of saturated solution of Pofassium Chlorate at 25° yields 14g of Potassium Chlorate when evaporated to
dryness. Calculate the solubility of Potassium Chlorate at 25°% (2 mk)
b). State one advantage of hard water (1 mk)
The ionization energies for elements'A, B and C are shown in the table below
Element A B C
Ionization energy (kj/mal) 519 418 494
i)  What is meant by ionization energy (1 mk)
ii) Which element is the'strongest reducing agent. Explain (2 mks)
Water from town in Kenya is suspected to contain chloride ions but not sulphate ions. Describe how presence of chloride ions
in water can be shown. (2 mks)
Dinitrogen tetra oxide exist in equilibrium with nitrogen dioxide as shown by equation below
N>Ou(g) &— Z 2NO0(g)
Pale-yellow brown
Given that the forward reaction absorbs heat, what would be observed and the effect of the following on equilibrium mixture?
Increase in temperature
Observation (1 mk)
Effect (1 mk)
. Both ions Y* and Z*" have electron configuration 2:8:8:
a). Write electron arrangement for Y,Z ( 1mark)
b). Draw the structure of Atom of Z, given that it has 20 neutrons (1 mk)
. A solution of hydrogen chloride in methylbenzene does not react with carbonates. However on adding water and then
shaking, the resulting mixture, there is vigorous effervescence. Explain the above observation. (3 mks)
. The form 2 students of Ainabokoi Secondary School reacted elements as shown in the table below
Element Reaction with Oxygen Reaction with H20
X Formed acidic oxide No reaction
Y Formed basic oxide Formed a soluble hydroxide and gave off hydrogen gas
4 Formed acidic Oxide Dissolved to form acidic solution
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Name the process labeled 1,2 (2 mks)
Name the catalyst used in (3 mks)
a). Process 2

b). Ostwald’s process

c). Contact process

Name each of compounds X and Y (1 mk)
Other than the catalyst named in (b) above, state two optimum conditions for process labeled 2. (1 mk)
Briefly describe process 1 that leads to production of nitrogen from air. (2 mks)
State two uses of ammonium nitrate (2 mks)

a) The table below gives standard electrode potentials for the metals represented by the letters R, S, T and U. study and
answer the questions that follow.

METALS Standard Electrode Potential (Volts)
R -0.34
S -0.85
T +0.34
u -0.76
i) Identify the metal which is the strongest reducing agent (1 mk)

ii) Which metal can be displaced from a solution of its salts by all the other metals in the table? Give a reason (2 mks)
b. Metal S and U were connected to form a cell as shown in the diagram below.

(v

Metal S

‘ — MetdlU

N
-l |
2+ N N U (ag

S N 3
(aq) \4f \

Salt bridge filled with a saturated sohmion of
potassum nikate

i)  Write the equation for the cell above (1 mk)

ii) Calculate the e.m.f, for the cell above (1 mk)

iii) On the diagram, indicate with an arrow the dir¢etion in which electrons would flow on the diagram above (1 mk)
iv) State one function of the salt bridge. (1 mk)

In an experiment to electroplate a copper spoen’ with silver, a current of 0.5 A was passed for 18 minutes.

i) Draw a well labeled diagram showing how the copper spoon was electroplated. (2 mks)
ii) Calculate the amount of silver depdsited on the spoon. (If = 96500 coulombs Ag=108) (2 mks)
iii) Other than electroplating state ofie'use of electrolysis (1 mk)

In an experiment to determine theate of a reaction, 2g of Calcium Carbonate were reacted with excess 2 M hydrochloricacid.
The volume of Carbon (iv) oxide’evolved was recorded at regular intervals of one minute for seven minutes. The results are
as shown in the table.

TIME (MINUTES) 1 2 3 4 5 6 7
Volume of CO; (g) cm;y 170 296 405 465 480 480 480
i) Plot a graph of time in minutes on the horizontal axis against volume of carbon (iv) Oxide on the vertical axis(3 mks)
ii) Write the ionic equation for the reaction that took place (1 mk)
iii) Determine the rate of reaction at 3 minutes (2 mks)
iv) What is the significance of the shape of the curve between minute five to seven (1 mk)
v) On the same axes, sketch the curve obtained if IM hydrochloric acid was used instead of 2M hydrochloric acid. Mark the
curve W (1 mk)
vi) Other than concentration, state other factors that would affect the rate of production of carbon(IV) oxide gas in the above
experiment (2 mks)
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a)

b)

i)
if)

—

= \
< =
H |
HE | |
=
l
What is the significance of
i) Point X (Imk)
ii) Volume K (1mk)
To determine the heat change the equation A H=mc AT is used, show how you would get the value of AT from the above
graph (1 mk)

4g of magnesium carbonate were placed into boiling tubes J and K as shown below.

1. '

Jd
Write down the equation taking place in boiling tube J (1mk)
Explain why the volume of carbon (IV) oxide gas liberated in boiling tube K is greater that in boiling tube J after 1
minute.(the reaction is incomplete) (2mks)

The set-up below was used to prepare Chlorine gas and react it with iron metal powder. Study it and answer the questions that
follow.

a) Identify the dark brown solid (Imk)
b) Name liquid P
c) Explain the importance of using calcium oxide in the drying bulb rather than using anhydrous calcium chloride
(4mks)
9. 480 cm’ of carbon (IV) oxide were liberated when T grams of copper (II) carbonate were heated until there was no
further change. If the volume was measured at r.t.p determine the value of T.

(Cu=64.0, C=12, 0=16, M.G.V = 24litres) (3mks)
10. The atomic number of phosphorus is 15. Write the electronic configuration of phosphorus in the following.
a) H;PO; (1mk)
11. Below are cross-sections of two pieces of Iron coated with copper and zinc respectively.
ole - ope’ Holy- ,
H (Y ()P ‘L Zint
& 3 -
XXX | [XxXX [xxe ] [xxxx
\
A Jron 2
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12.

13.

14.

a)
b)

15.

16.

17.

18.
19.

20.

21.

Which piece would not rust when the holes were filled with water and left with water for some time. (2mks)
Hydrogen sulphide gas was bubbled into an aqueous solution of iron(III) chloride.

a) State and explain the observations made (2mks)
b) Write an equation for the reaction that took place. (Imk)

When 10g of a mixture of potassium chloride and anhydrous sodium sulphate is dissolved in water and excess barium
chloride added, 6.9g o barium sulphate is precipitated. Calculate the composition of the mixture by mass. ( K= 39, Cl = 35.5,
Na =23,S=32,Ba=137) (3mks)

The flow chart below shows part of the process of preparing and collecting carbon (II) oxide.

Carbon(IV) oxide + Absorption
i > —— Carbon(Il id
Carbon(1II) oxide bottle arbon(II) oxide
Name two reagents that are reacted to produce both carbon (IV) oxide and carbon (II) oxide. (1mk)
Write an equation for the reaction that take place in the absorption bottle (Imk)

A sample of hydrated metal oxide, Y,0,.3H,0 with a mass of 11.7g was heated until all the water evaporated. Its final mass
was 7.65g. Determine atomic mass of Y. (Y is not the actual symbol of the metal) (H= 1, O = 16) (3mks)

A student prepared two different soaps in a science trade fair. The soaps had the following structures.

a) CH3(CH2)6COON3

b) CH3(CH2)]5COON3

i)  Which is a better cleansing agent? Give a reason for your answer. (2mks)

ii) What is the actual role of soap? (Imk)
Below is a sample flow chart showing extraction of zinc metal

Gas X Coke Limeston€é

+
A A ——>Gas Y
Ore———»f >
ZnO l
Molten zinc
i) Name chamber A
ii) Identify gas X
iii) Write a balanced chemical equation to.show what happens in chamber B (1mk)
Draw the structure of carbon diamond-and explain why it is hard yet it is not a metal (2mks)

The set-up below was used to study;the reaction between ammonia and air in presence of platinum catalyst.

__ Concettratoof

%M/Won/'uﬂ -
B e . L F=y!
e JﬂuﬁJ L

a) The platinum wire continues to glow without further heating. Explain. (1mk)
b) Write equations for the reactions representing
i)  The formation of the brown fumes. (1mk)
ii) Catalytic oxidation of ammonia. (1mk)
Randon ***gRa undergoes 3 alpha decays to form Lead 210, Pb. It took 18 days cfor the original mass to reduce to 3.125%
a) Write the nuclear equation for the reaction. (Imk)
b) Calculate the half life of Randon (1mk)

Describe a simple test that you would use to distinguish between CH;CH,CH,COOH and CH;CH,CH,CH,OH (2mks)
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22.

24.

25.

26.

27.

28.

29.

30.

The diagram below is an incomplete set-up for preparation of hydrogen sulphide in the laboratory.

Jui

a) Complete the set-up. (Imk)
b) Write an equation for preparation of the gas. (1mk)
. a) Describe how Sodium sulphate, solid lead carbonate dilute nitric acid and distilled water can be used to prepare lead
sulphate solid. (2mks)

b) Write an ionic equation that produced lead sulphate in the above reactions. (1mk)
Study the table below and answer the questions that follow.

Solution A B C D

pH values 2.3 7.1 6.7 13.6
i)  Which solution is likely to be
a) Acidrain? (Imk)
b) Potassium hydroxide. (1Imk)
ii) a substance U reacted with both solutions A and D. what is the nature of‘the substance U? (Imk)
Hydrogen has a very low density and it was once thought that this propetty would be of great importance in air transport.
Explain why this idea has not lived to its expectations (2mks)

In an experiment to establish the equilibrium between chromate and dichromate ions is as shown below.
2CrO4” o+ 2H" oy — Cr207% g + 2H,0y,

a) What would be observed when sodium hydroxide is added to the system? (Imk)

b) Explain your observation in (a) above. (2mks)
6.84g of aluminium sulphate was dissolved in 150cm’.6f water. Calculate the molarity of sulphate ions in the solution (RFM
of aluminium sulphate= 342). (3mks)

The following set-up was used by a form three student to electrolyse molten zinc chloride

Botte
—— R

7,

Gruphite
ir 3
Toee Chlovicte

a) Name terminal X and Y
b) After closing the switch the bulb did not light. Explain this observation. (Imk)
Chlorine reacted with compound Q to form a compound with a structural formula

H___ C H

| | I

H C C C H
| | |
H H cl

Write the structural formula of Q (1mk)

A current of 0.4A was passed through molten lead(II) chloride for 30 minutes. Determine the mass of lead deposited
(Pb=207, 1F =96500C) (3mks)

. The Solvay process is used in the manufacture of sodium carbonate

a) State one by-product in the Solvay process.
b) State how waste is kept minimum in this process.
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d)

a)

ii)
)

ii)
iii)

a)

i)

i)
iii)
iv)

V)

What name is given to the reaction that takes place in chamber N? Give a reason for your answer (2mks)
Name catalyst Y. (Imk)
State two uses of Sulphuric (VI) acid. (Imk)
Write a chemical equation to show the reaction between compound T and water. (2mks)

In an experiment to determine the enthalpy of displacement of coppere by zinc 50cm’ of 0.2M copper (II) sulphate
solution was reacted with excess zinc powder. The following observations were made:

Initial temperature of copper(Il) sulphate solution = 21%

Final temperature of copper (II) Sulphate solution = 29°c

(density of the solution = 1.0g/cm’, c=4.2j/g/k)

Calculate:
Temperature change. (1mk)
Mass of the solution used (Imk)
Heat evolved during the reaction. (2mks)
Molar heat of displacement. (2mks)
Why was zinc used in excess? (Imk)
i) State one factor considered when choosing a fuel. (Imk)
ii) The equation of formation of butanol is shown below.

4Co + SHyg + %0y — C4HyOH

Using the information below calculate the molar enthalpy of formation of butanol. (3mks)
Co + %20x9 — COxg)

Hygy+ %2009 H,0

C4H90H(]) + Oz(g N 4C Oz(g) + 5H2O (g)

The diagram below shows a set of apparatus used by a student to study the reaction between brass (an alloy of zinc and
copper) and dilute hydrochloric acid.

She took 120g of powdered brass and reacted it with excess hydrochloric acid. The readings on the balance were recorded at

regular intervals. The results are given-ifvthe table below.

Time(sec) Reading on the balance Total loss in mass(g)
0 600 0.00
20 599.5 0.50
40 599.12 0.88
60 598.84 1.16
80 598.66 1.34
100 598.54 1.46
120 598.50 1.50
140 598.50 1.50
160 598.50 1.50
Plot a graph of loss in mass(g) (y-axis) against time. (3mks)

Use your graph to answer questions that follow.
i) Calculate the rate of reaction at the 50" second. (2mks)

ii) Sketch the curve that would be obtained if the experiment was repeated at higher temperature (1mk)
iii) Calculate the mass of zinc contained in the alloy (H= 1.0, Zn = 65.0) (3mks)
iv)  Why is brass ground into powder for this experiment? (1mk)
v) What are the contents of the flask at the end of the experiment? (2mks)
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14.

15.
16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

State what would be observed if concentrated sulphuric (V1) acid is added to

a) Sugar crystals. (Imk)
b) Hydrated copper (1) sulphate solution (1mk)
¢) What type of reaction has taken place above (1mk)
Name three sub — atomic particles found in an atom and state where they are found (3mks)
The solubility of potassium nitrate is 85g/100g of water at 50°c and 32g/100g of water at 25°c.
a) Define the term solubility. (1Imk)
b) Calculate the mass of the crystals formed if a saturated solution of potassium nitrate in 50g of water at 50°c is cooled to
25%. (2 marks)

Study the set-up below and answer the questions that f(glow.

as X

1 Chlorne water

a) Name gas x | oo e (1 mark)

b) State the condition which is not indicated on the diagram for gas x to be formed. (1mark)
Calculate the mass of sulphur which on complete combustion would yield 7dm’ of sulphur (iv) oxide measured at 182° and
722 mm Hg pressure (0=16, S=32, molar gas volume = 24dm’ at r.t.p) (3 marks)

a) State and explain the observations made when fluorine gas is bubbled through sodium bromide solution. (2 marks)

b) When excess ammonia solution is added to a solution of copper (ii) ions, a deep blue solution forms. Write the formula
of the complex ions formed. (1 mark)

The following reaction is in equilibrium in a closed container

2802(3) + OZ(g) =22 SO3 (@ AH= -ve

State giving reasons how an increase in temperature would affect the amount of sulphur (VI) oxide gas (2mark)

Study the diagram below and use it to answer questions that follows

e
Zinc Nitrate
Heat
Water
(i) Identify gas R (1mk)
(ii) What changes would be observed in the'test-tube (1mk)
(iii) Explain the nature of the solution formed in water after sometimes (2mks)
Explain the following observations
(i) Electrical conductivity of metals decreases with an in increase in temperature (2mks)
(ii) Ionization energy decreasés down the group in group I (2mks)
M grams of a radioactive isotope decayed to 5 grams in 100 days. The half-life of the isotope is 25 days.
(i) What is meant by half-life (1mk)
(ii) Calculate the initial mass of the radioactive isotope (2mks)
Concentrated hydrochloric acid is used for removing oxides from metals (pickling). Explain why concentrated nitric (V)
acid cannot be used for the same purpose (2mks)

The diagram below shows acidic and basic oxides fit into the general family of oxides

(i) State the name given to the type of oxides that would be placed in the shaded region (1mark)
(ii) Give the names of oxides that could be placed in the shaded region (3mark)
Explain the following observations.

(a) A beaker with lime water, when left exposed develops a layer of a white solid on the surface. (1 mark)
(b)Calcium chloride powder, when left exposed gradually turn into a colourless solution. (Imark)
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(a) Give the names of the following compounds.

@) CH;CH,CH,0OH (1 mk)
(ii) CH;CH,COOH (1 mk)
(b) Study the information in the table below and answer the questions that follow.
No. of carbon atoms per molecule Relative molecular mass of hydrogen
2 28
3 42
4 56
(i) Write the general formula of the hydrocarbons in the table. (1 mk)
(ii) Predict the relative molecular mass of the hydrocarbon with 5 carbon atoms (1mk)
(iii) Determine the molecular formula of the hydrocarbon in (ii) and draw its structural formula. (2 mks)

(c) Study the scheme given below and answer questions that follow.

Step IV heat

Step 1
CH = CH C:H,
v Step 11
CH; = CHC(CI1
W
Step 111

{CH; =CHCH

(i) Name the reagent used in

Step | (1 mk)
Step 11 (1 mk)
Step IV (1 mk)
(ii) Write an equation for complete combustion of CH = CH (1 mk)
(iii) Explain one disadvantage of the continued use of items in step III. (1 mk)
2. (a) The diagram below represents the extraction of sulphur by the frasch process.
(— A
—C
Ground Level
(i) Identify and state the use of the substances that pass through tubes A and C. (2mks)
(ii) Rhombic and monoclinic are Allotrones of sulphur. Thev are inter convertible as shown below.
96.C
Rhombic = Maenoclinic
I.  What does the temperature 96°C represent. (1 mk)
II.  State the differences in crystalline appearances between rhombic and monoclinic crystals. (1 mk)
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(b) The following scheme represents the steps followed in the contact process, study it and answer the questions which follow.

Solid A
< SO; and Air
Purifier
SO; and Air
h 4
Drier
l Dry SO; and Air
Absorption _ Compressor
Tower
N
Oleum
Diluter T ' Catalytic chamber
(i) Name three possible identities of solid A. (1 mk)
(ii) Name two impurities removed by the purifier. (1 mk)
(iii) Why is it necessary to remove impurities? (1 mk)
(c) The following chemical equation shows a reaction taking.place in the catalytic chamber/converter.
= 280; D H= -197kjmol

(i) How would the following factors affect the production of sulphur (IV) oxide.

[ Increase in temperature. (1 mk)

I Decrease in pressure (1 mk)
(ii) Name the catalyst which is commonly uséd in this process and why? (1 mk)
(iii) State and explain one environmental effect of sulphur (IV) oxide in the

atmosphere. (2mks)

3. The table below shows some elements-of the periodic table and their atomic numbers, atomic masses and melting points. The
letters are not the actual symbols ofthe elements.

Element B C D E F G H I J K
Atomic No. 7 8 19 15 2 9 6 16 12 11
Atomic mass 14 16 39 31 4 19 12 32 40 23
Melting point °C -209 | -218 63.7 | 44 =272 -223 Vary | 113 | 669 98
(a) Select two elements with oxidation state of -3. (1mk)
(b) Which elements represents the most powerful reducing agent. Explain. (2mks)
(c) How does the atomic radii of D compare with that of K. Explain. (2mks)
(d) How do you compare the electrical conductivity of elements J and K. Give your reason. (Imk)
(e) Select two elements which when reacted with element G form a compound that conducts electricity both in molten and in
aqueous state. (2mk)
(f) Explain why the melting point of H has not been given a specific value. (Imk)
(g) In which group and period do D and G belong? (2mks)
D Group
Period
G Group
Period
(h) Explain why the melting point of element K is higher than that of D. (1mk)
(i) Select one element stored in
(a) Water (Imk)
(b) Paraftin (1mk)
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4. The following set — up was made in an experiment by a group of form four students. The readings of the balance before and
after experiment were indicated in the diagram below. Given that the initial temperature of water was 26.7°C respectively.
The specific heat capacity of water is 4200Jkg™ k™

[%—Thermometer

50cm? of water of
density 1g/cm

1
-

Tripod stand

Determine:
a) Temperature change that occurred (1mk)
b) Amount of ethanol used (Imk)
c) Moles of ethanol used (2mks)
d) Amount of heat gained by water (2mks)
e) Molar enthalpy of combustion of ethanol (2mks)
f) Use the following thermochemical processes to answer the questions that follow;
C3Hg(g) + SOZ(g) i 3C02(g) + 4H20(1) AHc = -1251(Jm01_]
Co+Oxp — COyy AHe =+'393kJmol”!
Hyg + % Oy —  HyOp) AHc = -286kJmol”
i) Draw an energy level diagram representing the formation and combustion processes of propane, carbon and hydrogen
(2mks)
ii) Hence or otherwise, determine the heat of formation-gf propane (2mks)

5. The extraction of aluminium from its ore takes pldce'in two stages, purification state and electrolysis stage. The diagram
below shows the set up for the electrolysis stagé.

Alumimium
(a) (i) Name the ore from which aluminium is extracted. (1mk)
(i) Name the impurity which is removed at the purification stage. (1mk)
(i) Label on the diagram each of the following:-
Anode (1Imk)
Cathode (1mk)
Region containing electrolyte. (1mk)
(ii) The melting point of aluminium oxide is 2054°C, but electrolysis is carried out between 800°C - 900°C.
I.  Why is electrolysis not carried out at 2054°C. (Imk)
I  What is done to lower the temperature? (Imk)
III Give two properties that makes aluminium be collected as shown in the diagram. (2mks)

(b) A typical electrolysis cell uses a current of 40,000 amperes. Calculate the mass in kg of aluminium produced in one hour.
(3mks) I[F=96500c, Al=27

6. (a) In a paper chromatography sample A was found to be more soluble than sample B. Sample C had the same solubility a
sample A, while sample D was most sticky of all the samples. Mixture K contained samples B and D only. In the space
provided below draw the chromatogram of A,B,C,D and mixture K (3 Y2 mks)

(b) Using propanone describe how you can separate a mixture containing iodine crystals and common salt (2 Y2 mks)

(c) Mixture of magnesium powder and zinc (II) oxide will react vigorously when heated but no reaction occurs when a mixture
of magnesium oxide and zinc powder is heated
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10. Below is a simplified scheme of Solvay process. Study it and answer the questions that follow:

Brine
PROCESS | | PROCESS I | PROCESS Il
Ammonia
solution SE it
Gas R Carbonate
a) Identify gas R. (1 mark)
b) Write an equation for the process IlI. (1 mark)
¢) Give one use of sodium carbonate. (1 mark)

11. In an experiment an unknown mass of anhydrous sodium carbonate was dissolved in water and.the solution made up to
250cm’. 25cm’ of this solution neutralized 20cm’ of 0.25M nitric acid. (Na =23.0 C =12.0-O =16.0)

Calculate:

(a) Moles of Nitric acid used. (1 mark)

(b) Moles of sodium carbonate in 25cm® of the solution. (1 mark)

(c) Mass of unknown sodium carbonate used (2 marks)
12. a) State Graham’s law of diffusion. (2 marks)

b) The time taken for a certain volume of gas R to diffuse through a small hole is 6 minutes. Under similar conditions on
equal volume of oxygen took 7.5minutes to diffuse through the same hole. Calculate the relative molecular mass of R.
(O0=16) (2marks)

13. The diagram below represents a set up that can be used to prepareand collect Nitrogen (iv) oxide.

a) Write the chemical equation, for the reaction that takes place in Heating Pb (NOs),. (I mark)
b) Name Gas X. (1 mark)
¢) What observations would\be made:
(i) in the boiling tube? (1 mark)
(ii) In the u-tube on cooling. (1 mark)

14. Calculate the volume of oxygen liberated at the anode when current of 3 amperes is passed through magnesium sulphate
solution for 45 minutes and 30 seconds?

Molar gas volume at r.t.p = 24 litres Faraday constant = 96500C. (3 marks)
15. 7.36 g of a compound of Hydrogen and Oxygen decomposed to produce 6.93 g of oxygen and the rest hydrogen. If the
molecular mass of the compound is 34 grams determine the molecular formular of the compound. (3 marks)
16. Draw a well labeled diagram for the preparation of dry chlorine using manganese IV oxide. (3 marks)
17. Use oxidation numbers to show that the above reaction is redox. (3 marks)
2H:S + SOy — 38 + 2H,0q
18. Describe how the pH of anti-aid (actual) powder can be determined in the laboratory (3 marks)
19. Draw and name of isomers of the butane. (2 marks)

20. When a few drops of bromine are added to hexane, a deep red solution is formed. No reaction occurs if the mixture is kept in
the dark, but in sunlight the red colour slowly disappears and a misty gas is given off.

(a) Identify the misty gas formed in this reaction. (1 mark)
(b) Write an overall equation for the reaction of one mole of bromine with one mole of hexane under these conditions.

(1 mark)
21. State the difference between the bleaching activity of chlorine and sulphur (iv) oxide. (2 marks)
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22.

a)
b)

23.
24.

25.

i)
ii)

iii)

26.

27.

28.

29.

30

Study the flow chart below and answer the questions that follow.

Colourless gas that forms white

Substance Y Substance V + precipitate with Ca (OH):

A 4

-

Excess Ammonia

Solution X Colourless
Solution
Identify substances Y and V (2 marks)
Write a chemical equation that lead to formation of solution X. (1 mark)
Describe a chemical test that can be used to distinguish between ethanol and ethanoic acid. (2 marks)

A solution was made by dissolving 15g of impure sodium hydroxide in water and making it:to 500cm’ solution. If 40cm’ of
this solution neutralized exactly 26cm’ of 1.0 M nitric (iv) acid, calculate the percentage purity of sodium hydroxide.
(Na=23,0=16,H=1Cl=35.5) (3 marks)
Motoro carried out the following experiment to study electrolysis of copper (II) sulphate. Study it and answer the question t

hat follow.
—

\

Aqueous

copper (II)

sulphate
Write ionic equations taking place at
Anode (1 mark)
Cathode (1 mark)
Comment of the pH of the selution after sometimes. (1 mark)
Element K (not actual symbol) has isotope composition as follows.
Isotope Abundance %
10k 18.69
5k 81.31
Calculate the Relative Atomic Mass. (2 marks)

A student wanted to determine the solubility of potassium nitrate at a certain temperature. He obtained the following results.
Mass of evaporating dish = 12.72g

Mass of evaporating dish + saturated solution = 34.10g

Mass of evaporating dish + salt = 17.00g

Calculate the solubility of potassium nitrate from the results above. (3 marks)
With reference to atomic number of one, explain why hydrogen can be placed in either group 1 or group VII of the
periodic table (2 marks)
(a) Define the term ionisation energy? (1 mark)
(b) State and explain two factors that determine the value of ionization energy of a given element. (2 marks)
Describe with the help of ionic equation, a confirmatory test for presence of chloride ion, using silver nitrate solution.

(2 marks)
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(b) Study the information in the table below and answer the questions that follow.

No. of carbon atoms per molecule Relative molecular mass of hydrogen
2 28
3 42
4 56

i)  Write the general formula of the hydrocarbons in the table.

ii) Predict the relative molecular mass of the hydrocarbon with 5 carbon atoms.

iii) Determine the molecular formula of the hydrocarbon in (ii) and draw its structural formula.
(c) Study the scheme given below and answer questions that follow.

C>:H5;COONa ’

Step IV heat
Step 1

S CIELN e
GO

Step 111

Fgm =CHCH 1

i) Name the reagent used in
Step |
Step 11
Step 111

ii) Write an equation for complete combustion of CH = CH.

iii) Explain one disadvantage of the continued use of items in step III.

4. The diagram below represents the extraction of Sulphur by the Frasch process:

— A

Ground Level
] =

i) Identify and state the use of the substances that pass through tubes A and C.
ii) Rhombic and monoclinic are Allotropes-ef sulphur. They are inter convertible as shown below.
®
96 C

Rhombic¢ o Menoclinic

I.  What does the temperature 96°C represent.
II.  State the differencestin crystalline appearances between rhombic and monoclinic crystals.

(1 mark)
(I mark)
(2 marks)

(Imark)
(Imark)
(Imark)
(Imark)
(1 mark)

(2 marks)

(1 mark)
(I mark)

(b) The following scheme represents the steps followed in the contact process, study it and answer the questions which follow.

Selid A Ai[

| |
l SO; and Air
L Purifier |
l SO; and Air

1
|

‘ Drier

Absorption
Tower

’ | Compressor

Piluter

Conc. H 2804

[ Catalytic chamber ‘—I
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4.

(a) State the sources of the substance X and Y.

(b) Identify the catalyst used in step I and how it is made to be effective.
(©) Name the substance A, B, C and E.

(d) Write the chemical equations that shows:

(i) The formation of substance C.

(i) The reaction between substance C and copper metal.

(e) State one economic use of substance F.

II  Below is a set-up in the preparation of a particular salt. Study it and answer the questions that follow.

3 Anhydrous
(":'é— calcium_
1

(2 marks)
(1 mark)
(2 marks)

(1 mark)
(1 mark)
(1 mark)

Iron wool
Dry
hlori
;as""“e Qfﬁg, Solid K
Heat

(a) Explain the observation made in the combustion tube when dry hydrogen chloride gas is passed instead of dry

chlorine. (2 marks)

(b) Identify solid K. (1 mark)

(c) What property makes solid K to be collected in the flask as shown above? (1 mark)

Study the given diagram and answer the questions that follow:

(a) Name A and C. (1 mark)
(b) (i) Give one element that(is the most appropriate to be used a electrodes. (1 mark)
(ii) Explain your answer in b(i) (1 mark)
(©) @) Comment on the concentration of the electrolyte at the end of the experiment. (1 mark)
(ii) Explain youganswer in c(i). (1 mark)
(d) (i) Arrange the'following anions in the order of increasing ease of discharge during electrolysis:
NOFOH™, SO;, I7,CI™, Br~ (1 mark)
(i) Dilute magnesium sulphate solution was electrolysed using copper electrodes.
Write an ionic equation to show the reaction occurring at the: (2 marks)
Anode:
Cathode:
(e) An electric current of 2.5 amperes was passed through molten lead (II) bromide for 40 minutes. Calculate the
volume of bromine vapour that would be produced (Faraday’s constant = 96,500 coulombs, molar volume =
24.0dm?3). (3 marks)
(a) Use the information below to answer the questions that follow.
1 _ -

Ca(S) + 402@) —> Ca()(s) AH =-635 KJ mol™

Ca(S) + CaOz(g) AH = -394 KJ mol™

Ca(s) + CaCO3(S) AH =-1207 KJ mol™

Calculate the enthalpy change for the reaction.

CaO(S) + COZ(g) - CGCO3(S) (3mks)
(b) State one factor that should be considered when choosing a fuel for cooking. (1mk)
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1. Describe an experiment on how you can separate a mixture of copper (II) oxide and solid copper (II) nitrate. ~ (3marks)
2. The setup below was used to study some properties of air.

Moist ird wool

| Water

State and explain two observations that would be made at the end of the experiment. (2marks)
3. (a) State Graham’s law. (Imark)
(b) Two similar containers, one with Nitrogen (IV) oxide and other with bromine simultaneously develop leaks.
After 30 seconds, the smell of nitrogen (IV) oxide is detected. How much longer will it 'take before bromine is detected?
(N=14, O=16, Br=80) (2marks)
4. Name the main ore from which iron is extracted. (1mk)
5. The table below gives the atomic number of element W,X,Y and Z. the letters-do not represent the actual symbols of the

element.
Elements W X Y Z
Atomic Number 9 10 11 12
(a) Which element is reactive? Explain. (Imark)
(b) Which two elements would react most vigorously with each other? (Imark)
(c) Give the formula of the compound formed when the elements iny(®) above react. (Imark)
6. (a) What is dynamic equilibrium? (Imark)

(b) Consider the equation below.
Cr202'7(aq) + ZOH-(aq) = 2Cr02-4(aq) + HQO(])

(Orange) (Yellow)

State and explain the observation that would be'made if a few potassium hydroxides are added to the equilibrium

mixture. (2marks)
7. State the disadvantage of using flower extract’as an acid-base indicator. (1mark)
8. Using dots (.) and crosses(x) draw a diagram to show bonding in carbon (II) oxide.

(C=12,0=16) (2marks)

9. The set up below is an incomplete set-up used during preparation of dry hydrogen gas.

Buute )

el r =<

1 J .
LU B 2 jmwleJ

Complete the diagram to show how a dry sample of hydrogen gas can be collected. (3marks)
10. Using equation only differentiate the bleaching effect of chlorine and So,. (2marks)
11. Explain why it is not advisable to leave a charcoal jiko burning in a poorly ventilated room. (Imark)

12. Ammonia gas is dissolved in water as shown below. Study it and answer the question.
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(a) Name the solution formed. (1mk)
(b) Why is ammonia dissolved as shown above? (1mk)
(c) What is the role of the inverted funnel in the experiment? (1mk)
13. Study the chart below and answer the questions that follows:
Solution K NaoH ,q White precipitate Step 11 Colourless
> L Excess NaoH,q) solution
Excess Step
l NH3(aq) I l HCl(aq)
White precipitate Colourless solution
L
(a) Identify (i) The metal ions in solution K. (1mk)
(ii) The white precipitate L (1mk)
(b) What property of the white precipitate L is illustrated by step I and II. (1mk)
14. In an experiment to investigate the conductivity of substances, a student used the set-up shown below.
DEloW. 7
Lamp
Wﬂawm eleChvodes
T u CruCible
The student noted that the bulb did not light.
(a) What had been omitted in the set-up? (1mk)
(b) Explain why the bulb lights when the omission is corrected. (2mks)
15. Calculate the number of AI’" ions released when 30cm’ of Aluminium &ilphate is dissolved in water. (L=6.024 x 10%)
(3mks)
16. (a) Both sodium and aluminium are metals in period 3. Sodium }ias a melting point of 98°C while aluminium has a melting
point of 1083°C. Explain (2mks)
(b) Compare the electrical conductivity of sodium and aluminium. Explain. (2mks)
17. Hydrogen and bromine react as per equation:
HZ(g) + Brz(g) - 2HBr(g) A H=-616KJ
On the axis below, sketch the energy level diagranyfor the forward reaction above. (2mks)
Energy
KJ
Reaction progress
18. The information below gives PH values of solutions V, W, X , Y and Z
Solution PH values
\Y 2
W 6.5
X 11
Y 14
Y4 4.5
(a) Which solution is likely to be:
(i) Calcium hydroxide (1mk)
(ii) Rain water (1mk)
(b) Which solution would react most vigorously with zinc carbonate? (1mk)
19. Determine the oxidation number of sulphur (s) in SO;> (2mk)
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20.

(a)
(b)
(©)
21.
22.

23.

(a)

(b)
(@)

(i)
24.
25.

(@)
(i)

Study the diagram below and answer the questions that follow.

Name X. -
State one chemical test for X.
State the observation made in tube 1.
Starting with lead (II) oxide powder, describe how lead (II) sulphate can be prepared.
(a) M grams of a radioactive isotope decayed to 5g in 100 days. The half-life of the isotope is 25 days.
(i) What is meant by half-life?
(ii) Calculate the initial mass of M of the radioactive isotope
(b) Complete the following nuclear reaction.
At — MBI+l

Study the diagram below and answer the questions that follow.

| White precipitate
—»! CO, » | Which dissolve in
excess CO,
— t
Solid M Ca(OH), solution
—| Yellow when hot
White when cold

Name (i) Solid A
(ii)Solid M
Write the chemical equation in :
Step I (1mk)
Step II to show how the white precipitate dissolves in excess carbon (IV) oxide.
Describe a chemical test that can be carried out in ordérto distinguish between CH;CH,OH and CH;COOH
The set-up below is used to investigate the propertigs of hydrogen.

Lo @”‘ Fame

P,

wf
s

Write an equation for the reaction that occurs in the combustion tube.
State and explain the obseryation made in the combustion tube.

(iii) What property of hydrogen’is being investigated?

26.
(a)
(b)
27.

(@)
(b)
28.

(@)
(i)

Explain the following observation.

Graphite conducts electricity while diamond does not.

Sodium chloride have high melting point than carbon (IV) oxide.

A piece of sodium was dropped into water in a trough as shown below.

Sodtun miga]

Write the chemical equatiz)n for the reaction.
What is expected PH value of the solution formed? Explain

(Imk)
(1mk)
(Imk)
(3mks)

(Imk)
(2mks)
(Imk)

(Imk)

(Imk)
(Imk)

(Imk)
(2mks)
(Imk)

(2mks)
(2mks)

(Imk)
(2mks)

Magnesium and sulphur burn in oxygen to form different products. Magnesium form white powder while sulphur form a

mixture of two gaseous products.
Name the product formed when magnesium burn in oxygen.
Write the chemical equation for the reaction that occurs when magnesium burns in oxygen.

(iii) Write the chemical formula of the two products formed when sulphur burns in air.
29. Element A has three isotopes ‘’A, *'A and **A in the ratio 2 : 3 : 5 respectively. Determine it relative atomic mass. (3mks)

(1mk)
(1mk)
(2mks)
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i)
ii)

)
ii)

iii)

i)
ii)

iii)

iii)
iv)

IMENTI CENTRAL
23272
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a) The grid below represents part of the periodic table. The letters do not represent actual symbols of the elements. Study it

and answer the questions that follow.

What type of bond would you expect in the compound formed between F and H. Explain?
(I) which of the element J and M will have a greater atomic radius? Explain.

(I) Elements F and N are in the same group of periodic table. How do their radius compare? Explain.

An element W has atomic number 15. Indicate the position it would occupy in the table above.
What is the name given to element X — Z?

P and J are termed as metalloids. What does the term metalloid mean?

Study the table below and answer the questions that follow.

SUBSTANCE M N O P Q R
MPOC 801 1356 | -101 |26 -39 113
BPOC 1410 | 2850 | -36 154 457 | 445
Electrical conductivity in solid Poor Poor | Poor | Poor | Good | poor
Electrical conductivity in molten Good | Poor }'Poor | Poor | Good | poor

Explain why substance M is a good conductor in molten state andinot in solid state
What is the most likely structure of substance N?

Identify with a reason, a substance that exists as a liquid atfoom temperature.

a) Draw and name two isomers of Butene.

(2marks)
(2marks)
(2marks)
(Imark)
(Imark)
(1mark)

(1mark)
(1mark)
(Imark)
(2marks)

b) The following reaction scheme shows reactions beginning with ethanol and its preparation methods. Study it and answer
the questions that follow.

— (‘,H;cmouq]
l(—wz X+ LiGuidA I

MJQ»( X

Hx_*@:_' ; _@

v
S/
AT s 3
ClzCo0H
i H¥ wawrm
. S—
Preavt N 1

Name reagent Z

Name [ Product A

IT Product C

IIT Product D

IV Product Z

Name Processes. J.E

State the condition and reagent required in step .
Condition............

Reagent............

(Imark)
(2marks)

(2marks)
(Imark)
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b)

i)  Analysis of polymers Z showed it contained relative molecular mass of 2744. Calculate the value of n. (2marks)
(C=12, H=1)
The structures shown below represents two cleansing agents, x and y.
S - +
% @58 Na
X
¥
Name the cleansing agents. X ,Y (1mark)

a) The diagram below shows the extraction of sodium metal using the down cell. Study it and answer questions that follow.
G4
41‘

Sedivmn L
Clietide™ [ -

- -
Jriekike 1
h Odg

i)  Explain why in this process sodium chloride is mixed with calcium chloride; (2marks)
ii) Why is the anode made of graphite and not steel? (Imark)
iii) State one property of sodium metal that make it possible to be collected;ds shown in the diagram. (1mark)
iv) What is the function of steel gauze cylinder? (Imark)
v) write ionic equation for the reaction which take place at

I cathode (Imark)

IT Anode (1mark)
vi) State one industrial use of sodium metal. (Imark)
A radioactive material emitted radiations as shown below:

’ ‘ a—=
) Photograph plate
Source of radiation

i)  Which radiation helium particles? (Imark)
ii) which radiation has;-

I lowest ionization agent (Imark)

IT lowest penetrating power. (1mark)
i)  Give two uses of radioactivity in medicine. (1mark)
ii) Give one danger of Radioactivity. (1mark)
a) A solution of sodium hydroxide was found to contain 12.4g/dm’ of sodium hydroxide. 25cm’ of this solution reacted

with 15cm’ of solution of sulphuric (V1) acid.

i) Find the molarity of the sodium hydroxide solution. (1mark)
ii) Calculate the number of moles of sodium hydroxide solution used. (1mark)
iii) Calculate the number of moles of the acid used. (Imark)
iv) Determine the concentration of the sulphuric (VI) acid solution in g/dm’. (Na=23, O=16, H=1, S=32) (1mark)
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b)

At 30"c the reaction between bromine and methanoic acid proceeds according to the information given below.
+
Bl’z(aq) + HCOOH(aq) i HBI‘(aq) +H (aq) + COz(g)

On the grid below, plot a graph of concentration of Bromine against time. (3marks)
Concentration of Bra, (Mol dm™) 9.5x10™ 4.3x10” 2.1x10” 1.4x10~ 1.1x10™
Time (minutes) 0 2 4 6 8
ii) From the graph determine the rate of reaction at time‘t’ where t=3.5 minutes. (2marks)
iii) On the same axis, sketch with a dotted line the curve that would be obtained if the reaction was carried out at 25°. Label
the curve as 2. (Imark)

5. a) Use the standard electrode potential for A, B, C, D and F given below to answer the questions that follow. The letters do not

b)

<)
d)

represent the actual symbols of the elements.

Half reaction E O Volts
AP g+ 2e - Al 2.90V
B* () 2 - B -2.38V
C+(aq) +e - V3 CZ(g) 0.00V
D* oy + 2€ - D) +0.34V
72 Feg +e - Flaq) +2.87V
i)  Which is E @ value for the strongest reducing agent? (1mark)
ii) In the space provided, draw a labeled diagram of the electrochemical cell that would be obtained when a half cells of
element B and D are combined. (2marks)
iii) Calculate the Emf of the electrochemical cell constructed in (ii) above. (1mark)

The set up below was used by a student to investigate the products formed when aqueous copper (II) Chloride was
electrolyzed using carbon electrodes.

il
L

iy f_—_‘-J

i)  Write the equation for the reaction that takes place at the cathode. (Imark)
ii) How would the mass of the anode-change if the carbon anode was replaced with copper metal? (1mark)
0.6g of metal B were deposited when'a current of 0.45A was passed through an electrolyte for 72 minutes. Determine the
change on the ion of B ( Rmm of B=59, [F=96500C) (3marks)
i) State Hess’s law of heatgtimmation. (1mark)
ii) Use the thermochemical equation below to answer the questions that follow.

CoHygp + % 0, — 2C0yp +3H,0y  AH=-1560KJ/Mol

C(s) + OZ(g) - COgtg} AH2=-394KJ/M0]

Hz(g)+ Vs Oz(g) - HgO;g) A H3=-286KJ/M01
I. Draw an energy cycle diagram that links the heat of formation of ethane with its heat of combustion of carbon and

hydrogen. (Imark)
II. Calculate the standard enthalpy of formation of ethane. (2marks)

a) Study the set-up of apparatus below and answer the questions that follow.
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i) Identify the following. (2mark)
I.  liquid V
II. GasU
ii) Write equation for the reaction at;- (2marks)
I. Boiling tube
II. U-tube
iii) State and explain the observation made in u-tube. (Imark)
iv) Apart from gas u, name another gas formed in the boiling tube. (1mark)
b) The diagram below shows part of the processes in the manufacture of sulphuric (VI) acid. Study it and answer the questions
that follow. (Oucen e fe d
) Hasou -
A i

i)  Write an equation for the formation of sulphur (VI) oxide from sulphuur. (1mark)
ii) What is the role of concentrated sulphuric (VI) acid in chamber A (Imark)
iii) Name one catalyst that can be used in catalytic chamber B. (Imark)
c) Explain one way in which sulphur(IV) oxide is a pollutant. (Imark)

7. a) Study the flow chart below and answer the questions that follgw.
4)

q
gu

i) Identify;- (3marks)
i) SolidZ
ii) Solid A
iii) Solid Y
iv) Solution W
v) Solution X
vi) Solution M
ii) Write the chemical equations in;- (2marks)
L. Step 2
II. Step 5
iii) Write the ionic equation in step 3 and give the observation made. (2marks)
iv) Give the condition necessary in step . (1mark)
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Time : 2 Hours

Solutions can be classified as acids, bases or neutral. The table below shows solutions and their pH values.

Solution PH values
K 1.5
L 70
| M 14.0

a) Select any pair that would react to form a solution of pH 7. (1 mark)
b) Identify two solutions that would react with aluminium hydroxide. Explain. (2 marks)
9.12g of a gaseous compound contain 8g of silicon while the rest is hydrogen. Determine the empirical formula of
the compound. (H =1, Si=28) (3 marks)
A fixed mass of a gas occupies 105cm’ at -14°C and 650mmHg. At what temperature will it have a volume of 15cm’ if
pressure is adjusted to 690mmHg ? (3 marks)
Using dots (*) and crosses (x) to represent electrons, show the bonding in fluorine molecule. (Atomic numbers; F = 9)

(1 mark)
Starting with copper metal, describe how to prepare solid copper (II) carbonate. (3 marks)
The diagram below shows a ‘jiko’ when in use. Study it and answer the questions that’follow.

/ \
a) Identify the gas formed at region B. (1 mark)
b) State and explain the observation made at region B: (2 marks)
A student set up the experiment to study the effect,gfheat on lead (II) nitrate.
gasY' ¥
Lead(lljnitrate  'ce Liquid X

i) Identify liquid X.
ii) Describe the test for gas Y. (1 mark)
iif) Write a balanced chemical equation for the reaction in flask A. (1 mark)
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8. The set-up represented below can be used to separate ethanol from its mixture with water.
Water in
Thermometer: (é
—&
°
o
o
Water out
m??m?at Mixture
Heat
&
a) Identify an error in the set-up. (1 mark)
b) Name this method of separation. (1 mark)
¢) What properties make it possible to separate ethanol from water by this method ? (1 mark)
9. The arrangement below was used to compare the penetrating power of emissions in a radioactive decay.
N Source Paper Zinc plate Lead block
F G H
a) Name the radiation that can be detected at F, G, H. (3 marks)
b) Name the material N and state its use. (1 mark)
¢) The half-life of 238 |J is 4500 years. The isotope decays-by alpha emission. Write a nuclear equation for its decay to form
Thorium (Th). o2 (1 mark)
10. a) What is meant by solubility ? (1 mark)
b) In an experiment to determine the solubility of s0lid X in water at 30°C the following results were obtained:

11.

a)

Mass of evaporating dish =26.2¢g

Mass of evaporating dish + saturated solution = 42.4g

Mass of evaporating dish + dry solidX = 30.4g

Using the information, determine the solubility of solid X at 30°C in g/100g water. (2 marks)
A Form one student set-up the.following apparatus to investigate the percentage of oxygen in air.

c
- nm
. sodium -
| hydroxide _ - T~
i)  Why is sodium hydroxide preferred to water in the above experiment ? (1 mark)
ii) Write an expression to show how the percentage of oxygen can be calculated. (1 mark)

iii) Given that the value of a = 10cm, b = 8cm and ¢ = 6.4cm, calculate the percentage active part of air used. (2 marks)

12. 30cm’ of 0.5M hydrochloric acid was used to neutralize 25cm’ of sodium hydroxide solution. Determine the

concentration of sodium hydroxide in grams per litre. (3 marks)
(H=1,0=16,Na=23)
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13. The table below gives some information about the physical properties of four substances which are represented by letters
L, M, N and K.

Electrical conductivity
Substance Melting point _ |Heat of vaponsation Solid Molten
L High High Poor Poor
M High High Good Good
N High High Poor Good
K Low Low Poor Poor
Select with reasons an element which is likely to be :
i) Copper metal (1 mark)
ii) Silicon (IV) oxide (1 mark)
iii) Potassium iodide (1 mark)
14. Write balanced chemical equations for reactions between chlorine and : (2 marks)

i) concentrated sodium hydroxide
ii) dilute sodium hydroxide
15. a) Hydrogen sulphide gas is bubbled through bromine water.

i) Give two observations made. (1 mark)
ii) Write an equation for the reaction that takes place. (1 mark)
b) State the test for hydrogen sulphide gas. (1 mark)
16. a) State Gay-Lussac’s law of combining volumes. (1 mark)

b) When 100cm’ of a gaseous hydrocarbon (CH,) burns in 300cm’ of oxygen;200cm’ of carbon(IV) oxide and 200cm’ of
steam area formed.
Deduce the formula of the hydrocarbon. (2 marks)
17. Study the set up below for electrolysis of copper (II) sulphate using copper electrodes.

Cell
||||

N\
Bulb Switch

H_T f Copper

-electrode

Copper
electrode

CRLITITET
FETLELLTT
(RARAR RN
IRRNARRRNY
NARRRENAY!
AARARENAY!

Copper |l Sulphate

a) Write ionic equations for reactions that took place at :

I. Anode
I1. Cathode (1 mark)
b) State and explain the observations made on the electrolyte. (1 mark)
18. Study the diagram below and answer the questions that follows. Conibustion
l tube ,
- Hydrogen flame
M4
Heat

>———<—={_ Anhydrous
calcium chloride
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i) Write an equation for the reaction that takes place in the combustion tube. (1 mark)
ii) What property of hydrogen makes this reaction possible ? (1 mark)
iii) What would you expect to happen if sodium oxide (Na,O) was used instead of lead (II) oxide ?  Explain. (1 mark)
19. The formula given below represents a portion of a polymer.

H H H H)

-C—C—C—C—+

LTI

QY’HVH./“

1

a) Give the name of the polymer. (1 mark)
b) State one disadvantage of continued use of this polymer. (1 mark)
20. 16g of ;ethanol (C,HsOH) were completely burnt in air. The heat evolved caused the temperature of 600cmof water to
change from 20°C to 85°C. Calculate the molar enthalpy of combustion of ethanol. (H= 1, C =12, O = 16). Specific
heat capacity of water = 4.2KJKg'K™). (3 marks)
21. A mixture contains ammonium chloride, silver chloride and lead (II) chloride. Describe how-each of the substance can be
obtained from the mixture. (3 marks)
22. Two elements A and B have electronic configurations 2.8.3 and 2.6 respectively.
a) To which group and period does element B belong ? (1 mark)
b) If the two react, what is the formula of the compound they form ? (1 mark)
23. The table below represents elements P, Q, R and S. Study it and answer‘the questions that follow.
(The letters are not the actual symbols of the elements)
Element | Atomic number Atomic radius (nm} [kanic radius (nmy)
P 13 _ 0.121 0,061
2 | 14 0.1 0.043
R 17 0.09% 0.181
S 18 0.023 -
a) Explain why the atomic radius of element P is‘greater than that of element R. (1 mark)
b) Explain why the atomic radius of element.Rsis less than its ionic radius. (Imark)
¢) Using dots (*) and crosses (x) show bonding in the compound formed between elements Q and R. (1 mark)
24. A piece of burning magnesium ribbon was placed in a gas jar full of nitrogen gas. The product Q formed was then
reacted with water.
a) Write the chemical formula for'the product Q. (1 mark)
b) Write the equation for the #€action between product Q and water. (1 mark)
25. Study the flow chart below and answer the questions that follow.
Solution R
-
Yellow-greengas P | —— Solid V |
Solution Q
Y Pb[NOg)giau_]
Identify : -
) SolidV White sand | (1 mark)
ii) Solution R (1 mark)
(1 mark)
iii) Solution Q
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26.

27.

a)
b)

<)

28.

i)
ii)

29.

a)
b)
<)

a) Define hard water. (1mark)
b) The structure below represents two cleansing agents.

R@osoma+ A

R-COO-Na
Which of the above cleansing agent would be suitable for washing in hard water ? Give a reason. (2 marks)
Hydrogen iodide is a product formed when hydrogen reacts with iodine according to the equations.

Hyg + gy === 2HI( AH=+52.0KJ/mole
A

Explain how the following would affect the yield of hydrogen iodide.

Increase the temperature. (1 mark)
A decrease in pressure of the system. (1 mark)
State the Le Chatelier’s principle. (1 mark)

An element X has a relative atomic mass of 88. When a current of 0.5 amphere was passed through a fused chloride of X for
32 minutes10 seconds, 0.44g of X was deposited.

Determine the charge of element X. (1 Faraday = 96500C) (3 marks)
Write the formula of the hydroxide of X. (1 mark)
The basic raw material for extraction of aluminium is bauxite.

Name the method that is used to extract aluminium from bauxite. (1 mark)
Cryolite is used in the extraction of aluminium from bauxite. State its role. (1 mark)

Aluminium is a reactive metal yet utensils made of aluminium do not corrode easily. Explain this observation. (1 mark)
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1. a)
b)

©)

i)

ii)
iii)
iv)

v)

vi)

State two factors to consider when choosing fuel for cooking. (2 marks)
On burning a fuel, the molar heat of combustion obtained is found to be lower than the theoretical value. State two

sources of the deviation. (1 mark)
Below are results obtained in an experiment to determine the enthalpy of solution of sodium hydroxide.
Mass of plastic beaker = 10g
Mass of plastic beaker + distilled water = 110.15g
Mass of plastic beaker + distilled water + NaOH = 116.35g
The table below shows the temperature at fixed times after mixing sodium hydroxide and water.

Time secs | @ 30 80 90 | 120 | 150 | 180 210

Temp. °C 15 21 29 28 | 27 26 25 23
Plot a graph of temperature against time. (3 marks)
From your graph, determine the maximum temperature attained. (1 mark)
Determine the temperature change of the reaction. (1 mark)
Calculate the number of moles of sodium hydroxide used in the experiment. (1 mark)
MNa=23,H=1,0=16)
Use your results to determine the molar heat of solution of sodium hydroxide:
(Density of the solution = 1g/cm’, specific heat capacity of the solution is 4;P8KJk™'mol™) (2 marks)
What is molar heat of solution ? (1 mark)

2. a) Study the table below and answer the questions that follows. The letters-are not the actual symbols of elements.

Element |No. of p-ru::toneaI Melting moint "C | Boiling poiat**C
P 11 L} 890
e 12 850 110
R 13 880 2470
S 14 1410 2360
i 15 442/5%0 280
u 18 113/%19 445
v 17 =101 -35
W 18 -189 -186
i) State and explain the trend,i1 melting point in P, Q and R. (2 marks)
ii) Explain why the melting\point of elements S is the highest. (1 mark)
iii) Why do elements E and F have two melting points ? (1 mark)
iv) Write down the chemical formula between R and the sulphate ion. (1 mark)
v) Name the chemical family to which element W belong to. (1 mark)
vi) What is the nature of oxides represented by elements R and U respectively. (1 mark)
b) The grid below is part of the periodic table. Use it to answer the questions that follows. (The letters are not the actual symbols)
A B
C D G E

i)  Write down the formula of the compound formed between C and A. (1 mark)
ii) Show the position of element Q in the periodic table having atomic number 15. (1 mark)
iii) Explain how atomic radius of C and F compare. (1 mark)
iv) Using dots () and crosses (x) to represent electrons, show bonding in the chloride of H. (2 marks)
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3. a) The scheme below shows some of the reactions of solution D. Study it and answer the questions that follows.

Hydrogen gas + Substance W

] Step | :
Potas sium {Caleium  garium chioride
ate +nitri i = I
CO; + Salt Soln gbon Excess Solutich D 50'“: hitric{V)acid White precipitate
Step IV Step Il
Step I"'wCDppEF("]OXidE
Blue Solution Zinc
Step V
i)  Give a possible cation present in solution D.
ii) Write an ionic equation for the reaction in step II. (1 mark)
iii) What observations would be made in step V ? (1 mark)
iv) Why is the total volume of hydrogen gas produced in step I found to be very low although calcium and solution D are in
excess ? (2 marks)
v) State one use of substance W. (1 mark)

b) Starting with sodium chloride, describe how a pure sample of lead (II) chloride can be prepared in the laboratory. (2 marks)
¢) i) State a property of anhydrous calcium chloride which makes it suitable for use as a dfying agent for chlorine gas.

(1 mark)
ii) Name another substance that can be used to dry chlorine gas. (1 mark)
4. a) Study the flow chart below and answer the questions that follows.
c
| Acidified potassium
Step | manganate(Vil)
Step VI - 'Sodium metal
Ethyl methanoate rp Ethanol m—pe D + Hydregen gas
¢ Step VI
Step "\l-
€onc.Sulphuric acid
Step IV Step V
Ethane |—oob A B E
Polymerization
Step lll y )
Bromine gas
B
i)  What observation will be made in step I. (1 mark)
ii) Name the following: (2marks)
I. Substance E
I1. Substance D
iii) Name the type of reaction that occurs in : (2 marks)
Step 11
Step IV
iv) Give the reagent and conditions necessary for step (VI) to obtain the given product. (1 mark)
Reagent
Condition
v) Describe a chemical test that can be carried out to show the identity of compound C. (2 marks)
vi) Give the formula for substance B. (1 mark)

b) When one mole of ethanol is completely burnt in air, 1370KJ of heat is released. Given that one litre of ethanol is 780g,
calculate the amount of heat energy released when one litre of ethanol is completely burnt. (C = 12.0, H = 1.0, O = 16.0)
(2 marks)
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5.

a)
b)
©)

ii)
iii)
iv)

v)

vi)

Study the information given below on standard electrode potentials for some half reactions and use it
to answer the questions that follows.

E® / velts
Ce&" o te — Cety +1.61
Fé" opte — Fety H.77

H.54
Fe'* .44
In* oyt 2 — Zng .76

X

Identify the strongest reducing agent.

Which substance in the table is suitable to oxidise iodide ion to iodine ?

Study the cell representation below and answer the questions that follow.
KNO;

Ing /0" S IFeq (4

Identify the anode and the cathocie.

Anode

Cathode.

If the two half cells are connected externally, write an equation for the reactiontaking place in zinc half cell.

Calculate the e.m.f of the cell.

State the purpose of the salt bridge in the cell.

Explain what would happen if KCl,q is used in the salt bridge instead of KNO; in a case where
Pb,/Pb*' ()  is one of the half cells.

Draw on electrochemical cell to represent the cell in c(ii) above,

vii) If the e.m.f of the cell J )/ 7" (aq)/ I / 2I7(aq)/ is +1.32V, calculate the value of 7 (aq) s

6.

a)

The flow chart below illustrate the extraction of zinc. Study-it'and answer the questions that follow.

Mixt D
Air Gas Q e

: Concentration Ore Zn0.,
Zinc ——— —ns- Roaster p———=
sulphide Chamber |[Concetratio
(0]

re e

PLNEp i Znn
Zincé&——Cooling Chamber€ Condenser
Impurities

i) Name the ore from which zinc is extracted.
ii) Give the formula of the main component in the ore named above.
iii) Name gas Q

b) What is the method commonly used for the concentration of the ore you named in (a) above.
¢) Give the equation for the main reaction that takes place in the furnace.

d) Beside ZnO, name the other two substances that are fed into the furnace.

e) Name the major impurity that is removed in the cooling chamber.

f) Suggest with reasons two other factories that could be set near the zinc extraction plant.

g) Give two detrimental effects on the environment that may result from the extraction of zinc.
h) Name two uses of zinc.

(1 mark)
(1 mark)

(1 mark)

(1 mark)
(1 mark)
(1 mark)

(2 marks)
(3 marks)
(1 mark)

(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)
(2 marks)
(2 marks)
(1 mark)
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7. Below is a chart showing the commercial production of compound D. Study it and answer the questions that follow.

Airu Sulphur

Nitrogen

‘ Ammonia

Gas A
W
Purifier Ammonium hydroxide
W
¥
@leum ‘t Solution K
water Y
Catalytic Chamber Sompound D
a) Write an equation for the reaction that takes place in the burner.
b) Why is it important to purify the products from the burner before being used in the stages that follow? (1 mark)
¢) Give one function of heat exchange. (1 mark)
d) Give two reasons why Vanadium (V) oxide is preferred to platinised asbestosin the process. (2 marks)
e) i) Name gas A
ii) Why is water not used in place of concentrated sulphuric (VI) acid:itvthe absorption tower? (1 mark)
f) Name substances K and D. (2 marks)

g) Explain the environmental effects of gas A if released to the atmosphere.
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a)
b)
<)
d)
e)

KANGEMA MATHIOYA
233/3

CHEMISTRY

Paper 3

(Practical)

July 2017

Time: 2% Hours

You are provided with :

2.0g of dibasic acid H,X labelled solid P

Solution Q containing 1.2g of sodium hydroxide in 250cm’ of the solution
Phenolphthalein indicator

You are required to:
Prepare 250cm” of solution using solid P
Determine the value of X in the formula H,X

Procedure |

Place all solid P in 250cm’ beaker

Add about 150cm’ of distilled water to the beaker, stir until all the solid dissolves.

Transfer the solution into 250cm’ volumetric flask. Top up with distilled water to the mark and label it solution P.
Using a 100cm’ measuring cylinder transfer 100cm’ of the solution P into 250cm’ beaker.

Preserve the rest in the volumetric flask for procedure 11

Pipette 25cm’ of solution Q into a clean conical flask. Add 2-3 drops of phenolphthaleinz indicator.

Fill the burette with solution P from the beaker.

Titrate until the pink colour disappears

Repeat two more times and record the results in the table below.

Table [

Titration 1 2 3

Final volume of Q (cm®)

Initial volume of Q (cm?)

Volume of @ used [cm®)

Calculate the average volume of solution P used. (1 mark)
Calculate the molarity of solution Q. (Na=23,0=16,H=1) (1% marks)
How many moles of sodium hydroxide were in the pipette volume ? (1 mark)
How many moles of acid, solution P redeted with 25cm’ of solution Q. (1% marks)
Calculate the molarity of solution P; (1 mark)
Determine the value of X in the formula H,X. (H=1) (3 marks)

Procedure 1

You are provided with :

Acidified potassium manganate VII solution L

Solution P, dibasic acid, H,X

A stopwatch / clock

Thermometer

You are required to determine how the rate of reaction of potassium manganate (VII), solution L with the dibasic acid,
solution P varies with change in temperature.

Using a 10cm’ measuring cylinder, place 2.0cm’ portions of solution L into 5 test tubes on a test tube rack

Clean the measuring cylinder and use it to place 10.0cm’ of solution P into a boiling tube.

Prepare a waterbath by placing about 200cm’ of water in a beaker and heat it.

Insert a thermometer in solution P in the boiling tube and place the boiling tube in the water bath until the solution attains a
temperature of 40°C.

Remove the boiling tube from the waterbath and add the first portion of solution L and start the stopwatch at the same time.
Record the time taken for the purple colour of the mixture to decolourise in table II below.

Repeat the experiment by using 10.0cm’ of solution P at temperature of 50°C, 60°C, 70°C and 80°C respectively.

Record the time in each case in the table below.

Page | 140




Chemistry 223/1,2,3

Table 1T

Temperature of solution
Time for colour to decolourise

(sec)
1
—sec
t
(5 marks)
b) Plot a graph of '/, (y-axis) against temperature. (3 marks)
¢) From the graph determine the time taken to decolourise the mixture if it is at a temperature of 65°C. (2 marks)
d) How does the rate of reaction of potassium manganate (VII) with oxalic acid vary with temperature. (1 mark)

2. You are provided with solid G. Carry out the tests below. Write your observations and inferences in the spaces provided.
a) Place one half of solid G in a clean dry test tube and heat it strongly. Test any gases produced with blue and red litmus papers.
| Observations (1 mk) | Inferences ( 1mk) |

b) Place the other half of solid G in a boiling tube. Add about 10cm’ of distilled water and shake until all the solid dissolves. (Use
the solution for tests (i), (ii), (iii) and (iv)

i) To about 1cm’ of the solution in a test tube, add two drops of universal indicator to the mixture obtained and then determine
the PH of the mixture.

[ Observations (1 mk) ] Inferences ( lmk) ‘
ii) To about 2cm’ of the solution in a test tube. Add aqueous ammonia dropwise aintil excess.

[ Observations (1 mk) | Inferefices ( 1mk) ‘

iii)To 2cm’ of the solution in a test tube, add three or four drops of seliition T (aqueous hydrogen peroxide)

I Observations (1 mk) ] Inferences ( 1mk) ]

iv)To about 1cm® of the solution in a test tube, add four o’ five drops of barium nitrate solution. Shake the mixture then add about
lcm® of dilute nitric (V) acid and allow the mixtur@to stand for about 2 minutes.
I Observations (1 mk) ] Inferences ( 1mk) |

3. You are provided with solid M. Carry outthe test below. Write your observations and inferences in the spaces provided.
a) Place about one third of solid M on a metallic spatula and burn it using a Bunsen burner.

| Observations ( %2 mk) [ Inferences (2 mk) |

b) Place the remaining of solidM in a test tube. Add about 6cm® of distilled water and shake the mixture well. (Retain the mixture
for use in test (c)

| Observations (1 mk) | Inferences ( 1mk)

¢) i) Toabout2cm’ of the mixture add a small amount of solid sodium hydrogen carbonate.

| Observations (1 mk) | Inferences ( 1mk) ‘

ii) To about 1cm’ of the mixture add 1ecm’ of acidified potassium dichromate (VI) and warm.
| Observations ( %2 mk) | Inferences (%4 mk) |

iii) To about 2cm’ of the mixture, add two of acidified potassium manganate (VII)

| Observations (1 mk) | Inferences ( 1mk)
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COMPLIANT PREPARATORY EXAMINATION

233/1

CHEMISTRY (THEORY)
PAPER 1

2 HOURS

1. An oxide of element G has the formula as G,Os.

(a) State the valency of element G.

(b) In which group of the periodic table is element G?
2. The set-up below was used to separate a mixture.

Mixture T
4

[

(a) Name the apparatus missing in the set-up.
(b) Give one example of mixture T.
(c) What is the name of this method of separation?
3. Name the process which takes place when:
(a) Solid Carbon (IV) oxide (dry ice) changes directly into gas.

(b) A red litmus paper turns white when dropped into chlorine water.

(c) Propene gas molecules are converted into a giant molecule.

4. The information below gives pH values of solutions V, W, X, Y Z.

5.

6. Air was passed through several\reagents as shown below:

Solution pH values
v 2
W 6.5
X 11
Y 14
Z 4.5

(a) Which solution is likely to be:
(i) Calcium hydroxide?

(ii) Rain water?

(b) Which solution would react mostwvigorously with Zinc carbonate?
Explain why very little Carbon (IVYoxide gas is evolved when dilute sulphuric (V1) acid is added to lead (II) carbonate.

Air ———

Concentrated

solution

(1 mark)
(1 mark)

sodium hydroxide

Escaping

v

Excess copper
turnings

A 4

Excess heated
magnesium

ad
|

powder

(a) Write an equation for the reaction which takes place in the chamber containing magnesium powder.

(b) Name one gas which escapes from the chamber containing magnesium powder. Give a reason for your answer.

(1 mark)
(1 mark)
(1 mark)

(1 mark)
(1 mark)
(1 mark)

(1 mark)
(1 mark)
(1 mark)

(1 mark)

(1 mark)
(2 marks)
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7. The set-up below was used to study some properties of air.

Moist iron wool

Test tube

1 [———— Beaker

Water

State and explain two observations that would be made at the end of the experiment. (2 marks)

8. Below is a list of oxides.

MgO, NZO’ KQO, CaO and A1203

Select:-
(a) A neutral oxide. (1 mark)
(b) A highly water soluble basic oxide. (1 mark)
(c)  An oxide which can react with both sodium hydroxide solution and dilute hydrochloric acid. (1 mark)
9.(a) Hydrogen can reduce copper (II) Oxide but not aluminium oxide. Explain. (1 mark)
(b)  When water reacts with potassium metal, the hydrogen produced ignites explosivel§on the surface of water.
i) What causes this ignition? (1 mark)
ii) Write an equation to show how this ignition occurs. (1 mark)
10. In an experiment an unknown mass of anhydrous sodium carbonate was dissolyed in water and the solution made up to 250
cm’. 25¢m’ of this solution neutralized 20 cm’ of 0.25 M nitric acid. Calculaté the mass of unknown sodium carbonate used.
(3 marks)
(Na=23.0,C=12.0,0=16.0)
11. An element M has two naturally occurring isotopes, M and *M. Calculate the percentage of each isotope if the relative
atomic mass of M is 63.55. (2 marks)
12. Carbon and silicon belong to the same group of the periodic table, yet Carbon (IV) oxide is a gas while silicon (IV) oxide is
a solid with a high melting point. Explain this difference (2 marks)
13. The table below gives information about the ions T* and Z*".
Ion T 7"
Electron arrangement 2.8 2.8.8
Number of neutrons 12 16
(a) Determine the relative formula mass ofithe compound formed between T and Z. (2 marks)
(b) State two conditions under which the*compound in (a) above would conduct electricity. (1 mark)
14. An ion of oxygen is larger than oxygemwatom. Explain. (2 marks)
15. (a) Work out the oxidation number of phosphorous in H;PO;. (1 mark)
(b) Study the equation below:
Mg ) + 2H,0 ¢y > Mg(OH); (aq) + Ha )
Which species has undergone oxidation? Explain. (2 marks)
16. Starting with Lead (II) carbonate explain how you would prepare a pure sample of Lead (II) sulphate. (3 marks)
17. Draw a dot (e) and cross (x) diagram to show bonding in:-
(a) Ammonium ion, NH," (N=7.0,H=1.0) (1 mark)
(b) Silane, SiH, (Si=14.0, H=1.0) (1 mark)
18. Sodium carbonate decahydrate crystals, Na,CO;.10H,0, were left exposed in the atmosphere on a watch glass for two days.
(a) State the observation made on the crystals after two days. (1 mark)
(b) Name the property of salts investigated in the above experiment. (1 mark)
19. (a) What is meant by the term solubility of salts? (1 mark)
(b) Calculate the solubility of a salt given that 15 g of the salt can saturate 25 cm® of water. (1 mark)
20. (a) State the Graham’s law. (1 mark)

(b) A 100 cm’ of Carbon (IV) oxide gas diffused through a porous partition in 30 seconds.

How long would it take 150 cm® of Nitrogen (IV) oxide to diffuse through the same partition under the same conditions?)
(C=12.0,N=14.0,0=16.0) (2 marks)
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21. The diagram below represents an in complete set-up for preparation of a dry sample of gas R.

Ammonium chloride +
Calcium hydroxide

L |

(a) Complete the set-up to show how a dry sample of gas R is collected. (2 marks)
(b) Write a chemical equation for the reaction that produces gas R. (1 mark)
22. When sulphur powder is heated to over 400 °C the following changes are observed:-
At 113 °C it melts into light brown liquid. The liquid then darkens to become reddish-brown and very viscous at 160 °C.
Above 160°C the liquid becomes almost black. Near the boiling point (444 °C) the liquid becomes mobile. Explain these
observations. (3 marks)
23. A gas cylinder contains about 1.12dm’ of butane measured at 0° and latm. Given that 25% of Cheat is lost, what is the
maximum volume of water at room temperature which can be boiled to 100°C in order toanake some coffee?
CiHigge)+ 6 Y5 Osgy —> 4COs) + SH,0); AH® = -3,000 kJmol ™ (3 marks)
(Specific heat capacity of water = 4.2J g'°C™", density of water 1gcm™ Molar gas volufite 22.4 at s.t.p)
24. (a) Compound W reacted with chlorine to form compound X only. The structural formula of X is shown below:
CH;— CH— CH— CH;

cl
Give the structural formula and name of compound W. (1 mark)
(b) Draw the structure of 1-chloro-2, 2-dimethylpropane. (1 mark)
25. Given this reaction; RNH, + H,O RNH;" + OH
Identify the acid in the forward reaction. Explain. (2 marks)

26. In an experiment, soap solution was added to three sample§ of water. The results below
show the volume of soap solution required to lather witli’500 cm® of each water sample
before and after boiling.

Sample 1 Sample 2 Sample3
Volume of soap used before water boiled 26.0 14.0 4.0
Volume of soap after water boiled 26.0 4.0 4.0
(a) Which water samples are likely to be(soft? (1 mark)
(b) Explain the change in volume of soap solution used in sample 2. (1 mark)

27. Study the electrode potentials in thetable below and answer the question that follow:
(Letters are not the actual symbgls of elements)

(E® /Volts)

H* o9+ 2 &5 H, +0.34

Z" g+ 26 > Z -2.38

G+(aq) +e Gy +0.80

T+2 Ty -2.87
(a) Which one is the strongest reducing agent? (1 mark)
(b) Write the ionic equation for the reaction that takes place when Z is dipped in a solution of G ions. (1 mark)
(c) Calculate the E° cell value of the reaction in (b) above. (1 mark)

28. The set-up below was used to prepare and collect hydrogen sulphide gas. Study it and answer
the questions that follow.

Dilute sulphuric
acid

Solid V
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(a) Name solid V.
(b) Write chemical equation of the reaction taking place in the flask.
(c) Give a reason why warm water is used in the set-up.

29. The following is a part of Uranium decay series.

238 Step | 234 Step Il 234 Step Il

—_— —_—p e
U Th Pa

(a) Which particle is emitted in step 1?
(b) If a beta particle is emitted in step 111, find Z and A.
(c) Ifthe activity of Th-234 is reduced to 25% in 48 hours, find its half-life.
30. The graph below shows the amount of calcium carbonate and calcium chloride varying with
time in the reactions:
CaCO3 (s) + 2HCI (aq) —> CaC12 (aq) + HQO (2 + COZ ©

Curve 1

Curve 11

Time >

(a) Which curve shows the amount of calcium,chloride varying with time?
(b) Explain why the two curves become hetizontal after a given period of time.

(1 mark)
(1 mark)
(1 mark)

(1 mark)
(1 mark)
(1 mark)

(1 mark)
(1 mark)

(c) Sketch on the graph how curve 1L would appear if the experiment was repeated using a more dilute hydrochloric acid

solution.
31. Heated iron can react with both chlerine gas and hydrogen chloride gas.
(a) Write equations for the twoeactions.
(b) Chlorine gas has no effeécton dry blue litmus paper. Explain.

(1 mark)

(2 marks)
(1 mark)
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2. (a) The structure below shows some reactions starting with ethanol. Study it and answer the questions that follow:

ReagentR
J » \_ Heat
Na Metal step i
\ CHsCOOH
/' -
, Stepl Breps of Cenc.
- — = H_C-
CH; -GH ) ( CH;=CH ) SteE I {
{ 2 2 }n 2 2 )
i)  Write the formula of the organic compounds P and S. (1 mark)
ii) Name the type of reaction and the reagent(s) for the reactions in the following step:-
I) Step I (1 mark)
I1) Step 11 (1 mark)
I1I) Step 111 (1 mark)
iii) Name reagent R (1 mark)
iv) Draw the structural formula of T and give its name. (1 mark)
v) D) Name compound U.............cooiiiiiiiiiiiiiii, (1 mark)
1) If the relative molecular mass of U is 42000, determine the value of n. (C =12;H=1) (1 mark)
c) State why C,H4 burns with a more smoky flame than C,Hs. (1 mark)
d) 3.52 gof Carbon (IV) oxide and 1.40 g of water are produced when a mass0f a hydrocarbon is completely burnt in
oxygen. Determine the empirical formula of the hydrocarbon. (H = 1.0.¢C= 12.0, O = 16.0) (3 marks)
3. The grid below represents part of the periodic table. (The letters do not represent actual symbols of the elements). Study it
and answer the questions that follow:-
F P G H |
Q J K M
N X-z
a) What type of bond would you expect in the compound formed between H and F? Explain. (2 marks)
b) i) Which of the elements J and M will have a greater atomic radius? Explain. (2 marks)
ii) How would you expect the ionization energy of F and N to compare? Explain (2 marks)
c) Anelement W has atomic number'6. Indicate the position it would occupy in the grid above. (1 mark)
d) What is the name given to elements X — Z? (1 mark)
e) Why is J used in electric cables whereas Q is not? (1 mark)
f) P and J are termed as metalloids. What does the term metalloid mean? (1 mark)
g) How would you expect the reactivity of H and M to compare? Explain. (2 marks)
4. (a)The diagram below represents a set-up that can be used for the electrolysis of dilute sulphuric acid.
I
::.III:;:lHr acid
i) Name the electrodes A and B. - (1 mark)
ii) Write an equation for the reaction taking place at electrode B. (1 mark
iii) What happens to the concentration dilute sulphuric acid as the reaction continues?
Explain. (2 marks)

(b)
flowing for 16 minutes. Determine the formula of the metal nitrate. (1F= 96,500 C, R.A.M of X = 59)

When nitrate solution of a certain metal X was electrolysed, 1.174g of metal X was deposited by a current of 4 amperes

(3 marks)
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(c) The diagram below shows a Le’Clanche cell (Dry cell).

b)

arbon rod

(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)

S— Cl
(i) What is the function of the following substances in the above cell?
I. MnO,
II. CaCl,
ii) Write the equation of a reaction that occurs at the negative terminal.
iii) A paste rather than dry form of ammonium chloride is used. Explain.
iv) What is the main disadvantage of this type of cell?
a) The scheme below represents the steps followed in the contact process. Study it and
answer the questions that follow.
Solicli A Air
SO,
A 4
Purifier
Conc. H,S0, .
l Dry SO, and air
> Heat exchanger
Absorption |, S0; Cooler

Tower '

l Oleum SO,

Diluter Air ¢

f Catalytic

l Conc. H;50, converter

(i) Name two possible identities of solid A.
(ii) Name one impurities removed by the purifier.
(iii) Why is it necessary to remove impurities?
(iv) Write down the equation of the reaction taking place in the converter.
(v) Name the two catalysts that can be used in the converter.
(vi) What is the function of heat exchanger?
vii) Sulphuric (VI) Oxide is not dissolved directly into water to form H,SO,? Explain.
viii) (I) State the effect of SO, in the environment.
(IT) How can the pollution in (viii) (I) above be controlled?
ix) Give one use of sulphuric (VI) acid.
Commercial H,SO, acid has a density of 1.8 gem™ and purity of 98 percent.
i) Calculate the molarity of this acid. (H=1.0, S = 32.0, O = 32.0)

(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)
(1 mark)

(1'% marks)

ii) Determine the volume of commercial H,SO, acid in (a) above that can be used to prepare 500 cm’® of 0.2 M H,SO,

solution.

(1% marks)
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(ii) State 2 uses of fume chamber in a school laboratory (2marks)
23. Lithium burns in oxygen to form the ionic compound lithium oxide.
(i) State the colour of the flame when lithium burns. (Imark)
(ii) Write the formula of each of the ions in lithium oxide. (2marks)
Lithium 10N .oo.ooeverieieieeeeee e
(0416 (T8 10 s H TSR
24. In industry, ethene is converted to ethanol by reacting it with steam in the presence of a catalyst.
(i) Name the catalyst used. (Imark)
(ii) Ethanol can also be made by fermentation. Describe how this is done. (2marks)
(iii). Ethanol is converted to ethyl ethanoate by warming it with ethanoic acid in the presence of a catalyst. How can a student
detect the formation of ethyl ethanoate in this reaction? (1mark)

25. Sodium hydroxide reacts with both iron(II) chloride and with iron(III) chloride. Describe how you could use sodium
hydroxide solution to distinguish between solid samples of iron(II) chloride and iron(IIT) chloride. Give brief details of what

you would do and what you would observe in each case (3marks)
26. When chlorine is added during the water purification process, the water becomes acidic.
i)  Why is chlorine added during water purification process (Imark)
ii) Sugest why lime water is added after chlorination (Imark)
27. Describe how hydrochloric acid and lime water can be used to test for the presence of carbonate ions in an unknown solution.
(2marks)
28. In a class experiment, a student prepared Nitrogen (IV) oxide gas in order to investigate its properties.
a) Name the reagents used in the preparation of Nitrogen (IV) oxide gas. (2marks)
b) State one property of Nitrogen (IV) oxide gas that facilitates its transportation to industries. (Imark)

29. Study the diagram below and answer the questions that follow.

[ J
— Cotton ——I I

Anhydrous calcium

Dry sodium
. wool chloride
chloride —_— Nails _—
I$
a) State and explain the observations made after two weeks. (2marks)
b) Give one reason for Silver plating an Iron spoon (Imark)
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SUNSHINE SECONDARY SCHOOL

233/2
CHEMISTRY PAPER 2
(Theory)
2017
TIME: 2 HRS
1. Study the table below and answer the questions that follow. The letters do not represent the actual symbols of the element.
Formula of ion Electronic configuration
B> 2
D 2.8
cr 2.8.8
B> 2.8
(a) Select elements found in:
(i) The same group (Imk)
(ii) Period three (1 mk)
(iii) What is the family name given to the group number to which element B belongs (Imk)
(b) With reasons compare the atomic radius of elements B and A. (2 mks)
(c) State two industrial uses of element B. (2 mks)
(d) With reasons, compare the reactivity of E and A. (2 mks)
(e) Write the formula of the compound formed when D and A react. (1Imk)
(b) What type of bond is formed when element E reacts with oxygen. Give a reason or your answer. (2mks)
2. (a) The diagram below represents the extraction of sulphur by the frasch process.
((=— A
—C
Ground Level
(i) Identify and state the use of the substances that pass through tubes A and C (4mks)
(ii)) Rhombic and monoclinic are Allotropes of sulphur. They are inter convertible as shown below.
]
96 C
Rhombic = Maenoclinic
What does the temperature 96°C represént. (1 mk)
iii) State the difference in crystalline appearance between rhombic and monoclinic crystals. (1 mk)

(b) The following scheme represents the steps followed in the contact process, study it and answer the questions which follow.

Solid A

SO; and Air

A 4

Purifier

SO; and Air

v

Drier

Dry SO; and Air

Absorption Compressor
Tower

Oleum

Diluter

| !

Catalytic chamber
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a) Name two possible identities of solid A. (1 mk)

(ii)) Name two impurities removed by the purifier. (1mk)

(iii) Why is it necessary to remove impurities? (Imk)

iv) Write the chemical equations for the reactions taking place. (2mks)
a) Catalytic chamber
b) Absorption tower
v) Explain why SOj; is absorbed in concentrated sulphuric (VI) acid instead of water. (Imk)
3. (a) i) Apart from ethanol, name two liquid fuels. (Imk)

ii) State two factors that should be considered when choosing a fuel for cooking. (2mks)
. Thermometer
—  Metallic container
—  Water
I':f_f‘:__:::—.: crzaszsel
S
Tripod stand
Lamp

During the experiment, the data given below was recorded.

Volume of water = 500cm’

Initial temperature of water = 25.0°C

Final temperature of water 46.5°C

Mass of ethanol + lamp before burning 125.5¢g

Mass of ethanol + lamp after burning = 124.0g

Calculate;
(i) Heat evolved during the experiment (Density of water = Ig/cm*\specific heat capacity of water = 4.2J/g/k. (3mks)
(ii) Molar heat of combustion of ethanol (C 12.0, 0 = 16.0, H =1.0) (2mks)
(iii) Write the thermochemical equation for the complete combustion of ethanol. (1 mk)
(iv) The experiment value of molar heat of combustion of éthanol obtained in (b) (ii) above is lower than the theoretical value.

Give two reasons for this variation. (2mks)
(v) Why is the water in the container continuously stitred with thermometer? (Imk)

b) The hydration energy of AI** and CI" are -4690°kJmol™ and -364kJmol™ respectively. The heat of solution of aluminium
chloride is -332kJ mol-".

i) Draw an energy cycle diagram to represent the above information. ( 1mk)

ii) Calculate the lattice energy of aluminum chloride (2mks)

3. a) A current of 0.75 Amperes was“passed through a solution of chromium for one hour and four minutes in the process of
electroplating an iron spoon. The’'mass of chromium deposited on the spoon was 0.52g (1F = 96500C, Cr = 52)

i) Calculate the quantity of electricity passed. (1mk)

ii) Deduce the charge of thé<€hromium ion. (3mks)
iii) How many moles in chromium were deposited? (1 mk)
iv) Draw a well labeled diagram to show how the spoon was electroplated (3mks)

b) Below is a simplified diagram of a Down’s cell used for the manufacture of Sodium metal. Study it and answer the questions
that follow.

a) Name the substance the anode is made of (Imk)

b) Explain your answer in (a) above (Imk)

c) What is the role of the diaphragm in Down’s cell (Imk)

d) In Down’s cell for the manufacture of Sodium metal, Calcium chloride salt is added to lower the melting point from

800°C to 600°C. Explain why it is necessary to lower the melting point (Imk)

4. Complete the diagram to show how dry hydrogen chloride gas is collected. (2marks)
(b) Identify liquid Q (Imark)
(c) Write a balanced equation for the reaction that produces hydrogen chloride gas in the above experiment (1mark)
(d) State the effect of dry hydrogen chloride gas on
(i) Dry blue litmus paper (1mark)
(ii) Wet blue litmus paper (1mark)
(e) Calculate the volume of hydrogen chloride gas produced if 120g of sodium chloride was used with excess of liquid Q at S.T.P

.(Na=23,Cl=35.5,H=1.0,S=3)molar gas volume = 22.4 litres at s.t.p). (3marks)
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a)
b)

a)
b)

7

NAKA EVALUATION TEST.
Kenya Certificate of Secondary Education (K.C.S.E)

2331
CHEMISTRY
PAPER 1
THEORY

TIME: 2 HOURS

Two papers A and B were placed at different levels of a non-luminous flame. Paper A was placed on the lowest part of the
flame while B was placed at the tip.

a) Indicate below the observations made on each paper. (2mks)
Paper A. Paper B.
b) Explain the observations made on paper A. ) (1mk)
The table below shows the number of drops of soap solution needed to lather with 10cm” of water.
Sample Cold water Heated water

A 5 5

B 6 2

C 2 2
Identify the anions likely to be in: A and B. (2marks)

State TWO methods used in removing permanent hardness of water.(1mk)

20cm’ of sodium hydroxide solution containing 8.0g/dm”’ were required for complete neutralization of 0.18g of a dibasic and
H,X.Calculate the relative molecular mass of the acid. (3mks)

The flow chart below shows some of the stages in the manufacture of the sodium carbonate by the Solvay process. Use it to
answer the questions that follow;

COsx(g)
N !
> Brine > | NH,Clog)'
Stepl NaHCO3(s,
Step 11
— Yy
Step 111

Name the substance N Na,CO; (Imk)

Name the process taking place in.

i) Step Il (1Imk)

ii) Step I (1mk)

Write an equation for the reaction producing Sodium Carbonate. (Imk)

The solubility of copper (II) Sulphate at 75% is 55g/100g of water and 19g/100g of water at 15°c. What mass of crystals would
be deposited if a saturated solution in 150g of water is cooled from 75% to 15°. (3mks)

Use the set up below to answer the questions that follow.

Source of power

a) On the diagram label the cathode. (Imk)
b) Write the equation of the reaction on the cathode. (Imk)
What is fuel? (1mk)
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a) Given that the enthalpy of combustion of methane is 890KJmol™" and that of ethanol is 1368KJmol™".Which of the two is a
better fuel? Explain. (2mks)
8  The diagram below represents parts of a set up for preparing and collecting a dry sample of oxygen gad.

I

Tube 1 —=

4
Sodium Peroxide

a) Complete the diagram. (1mk)
b) Write the equation for the reaction in tube 1. (1mk)
¢) State ONE commercial use of the oxygen gas. (Imk)
9  The table below shows some elements and their atomic numbers. The letters do not represent the actual symbols of the
elements. (1mk)
Element X Y z R S Q T
Atomic Number 11 10 20 13 14 4 8
a) From the given letters of elements select two elements with the same chemical propefties. (Imk)
b) Write the formulae of a compound formed when element S reacts with element T¢ (1mk)
c) Identify the most stable element. (Imk)

10 A dynamic equilibrium between dichromate and chromate ions is establishedas shown in the equation below.
Cr2072-(aq)+2OH-(aq) —n 2Cr072'-(aq)+H20(1)

a) What is meant by a dynamic equilibrium. (1mk)

b) State and explain the observation that would be made if a few pellets of sodium hydroxide are added to the equilibrium
mixture. (2mks)

11 The diagram below shows an experimental set up for preparing Carbon (II) Oxide. Study it and answer the questions that
follow.

charcoal
i

/ Heat

Combustion tube

a) State the role of sodium hydroxide solution in the set up. (Imk)
b) State the reason why Carbon, (i) Oxide is collected in the manner illustrated (Imk)
c) Describe a simple test that-¢an be used to distinguish between carbon (II) oxide and carbon (IV) oxide. (Imk)
12 a) State the Graham’s law of diffusion. (Imk)

b) A sample of unknown compound Z is shown by analysis to contain sulphur and oxygen. The gas requires 28.3seconds to
diffuse through aperture into a vacuum. An identical number of oxygen molecules pass through the same aperture in

20seconds.Determine the molecular mass of Z. (0=16,S=32). (2mks)
13 Explain why aluminum chloride is fairly soluble in organic solvents while anhydrous magnesium chloride is in soluble.
(2mks)
14 a) Define half-life of radioisotopes. (Imk)
b) X grammes of a radioisotopes takes 100days to decay to 20g.If half-life of the same element is 25days, Calculate the
initial mass X of the radioisotope. (2mks)
15 Explain why the pH of 0.1M hydrochloric acid is 1.0 while that of 1.0M ethanoic acid is 5.0. (2mks)

16 Write down the property of concentrated Sulphuric (VI) acid shown in the following reactions.
a) H2C204. 2H20(1) conc . H2504 9”’70(]\ + COQ(g) + CO(g)

Property. (Imk)
b) Cg)+2H,SO045) ——————COxy) + 2H,0(1) + SOy
Property. (1mk)
18 When excess chlorine gas is bubbled through dilute sodium hydroxide solution, the resulting solution acts as a bleeching
agent.
a) Write an equation for the reaction between chlorine gas and sodium hydroxide. (1mk)
(2mks)

b) Explain how the resulting solution acts as a bleeching agent.
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19 During Olympics, urine sample of five short distance runners were taken and tested for the presence of two illegal steroids by

paper chromatography. Methanol was used as the solvent. A chromatogram from the test appeared as shown below. Study the
chromatogram and answer question that follow.

KEY
T T T T T T T T T SPOT A -STEROID A
. SPOT B —STEROID B
’ ¢ . SPOT 1- ATHLETE 1
. SPOT 2 - ATHLETE 2
L/ U . SPOT 3 — ATHLETE 3
’ * SPOT 4 — ATHLETE 4
*—:‘—"’;_‘;“—*;— ;’ . 5 | SPOT 5— ATHLETES
a) Which of the two steroids is most likely to be more soluble in methanol? Give a reason. (1mk)
b) Identify the athletes that tested positive for the illegal steroids. (2mks)

20 A carbonate was suspected to be an ore of iron. Describe how the presence of iron can be confirmed in the ore. (3mks)
21 Use the reaction scheme below to answer the questions that follow.

Process Y H; )
Alcohol x Conc H,SO, | Propene | Compoufid z

a) Draw the structure of alcohol X. (Imk)
b) Name the process Y. (1mk)
¢) Write the molecular formula of the 5™ member in which propene belongs. (1mk)
22 Describe how a solid sample of Lead (II) Sulphate would be prepared using the following reagents. Dilute Sulphuric (VI)

acid, Nitric (V) acid, solid lead (II) Carbonate (3mks)
23 Give the following electrode potential.

Efv

AJr (aq) +e —>A(S) +0.76.

B* gt 26 —B -0.48

Va Q2 (2) +2¢’ —)Q —(aq) +1.62
a) Determine the maximum E.M.F. that can be obtained by combining two of the given half cells. (Imk)
b) Write the cell representation for the cell in (a) above. (Imk)
c¢) What would be the electrode potential of A if B was-thade standard electrode. (Imk)
24 Study the set up below and answer the questions.that follow.

Copper turnings
Nitrogen (1) Oxicle T‘ T
Heat
a) Identify gas X. (Imk)
b) State the observation made in the combustion tube. (Imk)

¢) Write equation for the reaction in combustion tube
25 The diagram below represents an arrangement for preparing and collecting dry hydrogen. Study it and answer the questions

that follow. Dillute
[ﬂ,—_ hydrogen gas

Zinc
a) Write the equation for the reaction that produces hydrogen gas. (Imk)
b) Name the suitable substance that liquid K is likely to be. (Imk)
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The grid below represents part of the periodic table. Study it and answer the questions that follow. The letters do not represent
the actual symbols of the elements.

A

B F G| Z | NI|E

W] T /L C

D | K

Y
What name is given to the family of the;
i)  Elements to which E, H and M belong? (Imk)
ii) Elements to which F,J and K belong? (Imk)
Write the chemical formula of the;
i)  Sulphate of T. (1mk)
ii) Nitrate of J. (Imk)
Name the type of bond and structure formed between reactions of:
i) DandN. (Imk)

Bond. ... @

STUCTUTE. ..o e e
ii) TandH. (1mk)

BONd. ..o

SEUCTUTE. .o e D e
i) lonic radius of element E is bigger than its atomic radius. Explain (2mks)
ii) The Oxide of G has a lower melting point than the*Oxide of L.Explain. (1mks)
iii) Explain in terms of bonding and structure the following observation.

There is an increase in melting and boilingpoints from W to T. (2mks)
Using dot (+) and cross (X) diagram show bonding in ZV",. (2mks)

a) The diagram below represents the exgraction of sulphur from its underground deposits by the Frasch process. Study the
diagram and answer the questions that follow.

L

__ & "

—

!
I

g
|
l

_ SULPHUR BED
i) Name the substances that pass through pipes L,M and N. (3mks)
ii) What is the purpose of the
i) Superheated water. (Imk)
ii) Hot compressed air. (Imk)
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b) The flow chart below shows how sulphuric acid is produced on a large scale by contact process.

Gas A
Solid ¥
—BT BURNER | GasC REACTION
CHAMBER
. |
SUBSTANCE E SO3)
Lisid D OLEUM
:
i) Identify: PRODUCT
1) GaS A (Imk)
1) SOlId Buoee i (1mk)
1) GAS Gttt (Imk)
iv) Substance E...........cooiiiiiiii (Imk)
ii) Name the catalyst used in the reaction chamber. (Imk)
iii) Write a chemical equation for the reaction taking place in the dilution chamber. (1mk)
c) State one industrial use of sulphuric acid. (Imk)
3 Study the flow chart below and answer the question that follows:
CiH;
Step 1
e — Step 11
_—
Step [1
m Potassium metals
ropanoic Aci
E‘I,E‘:;‘a:];i;rs(). Step VI Stepilv
+ Heat
l L ’ I Sugars
a) 1) Name the type of reaction in thefollowing steps.
I. Step 111 (%2 mk)
I Step v (%2 mk)
ii) Name the important reagent and conditions in.
Step ] Reagent... {5 (%2 mk)
Conditign. . ....oeieiiiii (%2 mk)
Step II Reagent..........coooeviiiiiiiiiiiieeeen (% mk)
CoOndition.........cooeviiriiiiiii e (%2 mk)
Step V. Reagent........ooooveiiiiiiiiiiiii (Y2 mk)
Condition........c.ooevviiiiiiii (%2 mk)
b) i) Write a balance equation for the reaction taking place in VII(1mk)
ii) Give the systematic name of substance L. (Imk)
c¢) Describe chemical tests used to differentiate between C;Hg and C;Hg. (2mks)
d) i) Ifthe relative molecular mass of compound formed in step III is 42,000.Determine the value of n in the
compound.(C=12.0 , H=1.0) (2mks)
ii) State one disadvantage of continued use of items made from the compound formed in steplII. (Imk)
4 Solubility of potassium and copper II Sulphate were determined at different temperatures. The following data was obtained.
Temperature (°C) 0 20 40 60 80 100
Solubility of 100g of water KNO3 12 30 75 125 185 250
CuSO, 15 20 35 45 65 80
i)  On the graph paper provided; plot solubility curves for both salts, where solubility (vertical axis) is plotted against
temperature. (4mks)
ii) Determine from the graph the solubility of each salt at 50°C (Imk)
L. KNOs:
I1. CuSO, (1mk)
iii) At what temperature was the solubility of both salts equal? (Imk)

iv) Saturated solution of potassium nitrate at 70°C was cooled to 20°C.What mass of the crystals will be deposited? (1mk)
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b)

b)

d)

ii)
e)

i) What is permanent hardness of water? (Imk)
ii) State two chemical substances that can be used to remove permanent hardness. (Imk)
Explain why aluminum sulphate solution is acidic. (1mk)
a) Use the bond energies given in the table below to calculate the enthalpy change for the reaction. (2mks)
Bond C-H C-Br Br—Br H - Br c-C
Bond energy Ki/mol 413 280 193 365 343

CoHg(g) + Bra) —»CoHsBri + HBry
Hydrogen peroxide decomposes according to the equation below;
HzO(]) —>H20(1) + % Oz(g) 5 AH =-98KJ/mol.
If 6.8g of hydrogen peroxide contained 75cm3 of solution with water were completely decomposed, determine the rise in
temperature due to the reaction.(Specific heat capacity of water =4.2Jg"' K™ , density of water = 1g/cm’® , O =16 , H=1).

(2mks)
On the space provided below sketch the cooling curve that would be obtained when a boiling tube containing water at 80°C is
immersed in a freezing mixture maintained at -10°C. (3mks)

0

Butane C4H;, cannot be prepared directly from its elements but its standard heat of formation (AH ~ f) can be obtained

directly. The following heats of combustion are given.

AH" ¢ carbon (s) N -393KJ/mol

AHY ¢ Hy(g) % -286KJ/mol

AH ¢ C4Hy = -2877KJ/mol

Draw an energy circle diagram linking the heat of formation of butane with its heat of combustion and the heat of combustion
of its constituents elements. (2mks)
Calculate the heat of formation of butane AH 0 f(C4Ho). (2mks)
Given that the lattice enthalpy of potassium chloride is +690KJ/mol and hydration-enthalpies of K* and CI" are -322KJ and -
364K respectively. Calculate the enthalpy of solution of potassium chloride. (2mks)

a) Use the standard electrode potentials for elements A,B,C,D and E given below to answer the questions that follow. The
letters do not represent the actual symbols of the elements.

Standard Electrode Potential EZ (Volts)

A + 2e —= A -2.90

B2+ + 2e T2 B, -2.38

C;graq) + e 1’=) v, Cz(g) -0.00

D™ g + Qe TE———25 Dy +0.34

72 Ez(g) + e 1:> E-(aq) +2.87
i)  Which element is likely to be hydrogen?Giveareason for your answer. (2mks)
ii) Whatis E ? value of the strongest reducing.agent? (Imk)
iii) In the space provided, draw a labeled diagram of the electrochemical cell that would be obtained when half — cell of

element B and D are combined. (3mks)
iv) Calculate the E ? volume of the ¢fectrochemical cell constructed in (iii) above. (Imk)

b) During the electrolysis of aquéous copper (II) Sulphate using copper electrodes, a current of 0.2A was passed through the
cell for Shrs.

i) Write an ionic equation that took place at the anode. (Imk)
i) Determine the change in mass of the anode which occurred as a result of the electrolysis process. (Cu = 63.5 ,
IF = 96500C). (3mks)

The flow chart below represents preparation and properties of oxygen gas.Study it and answer the question that follow.

Gas D tums purple
Pottasium manganate (VII)
colourless

3

Heat | Yellow
Solid A

Solid B{ Oxygen gas [P Ol:SSi“m KOHag .
- 2 | eat

Heat

o

) Dilute Sulphuric acid

I Light blue solution C ] v

Process P 4 Barium (II) nitrate solution

| Solid Q + Solution M |
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0 %2%Rn —> 20 +X
(i)  233Ra —» 222Rn +7Y
(a) Give the actual names of particles X and Y. (1 mark)
(b) Give the name of a radiation whose emission does not change the mass number or the atomic number of a radioisotope.
(1 mark)
11. The structures below represent two cleaning agents M and P.
R — COO~Na*
M
Which cleaning agent would be most suitable for use with water containing calcium sulphate. Give a reason.
(2 marks)
12. You are given the following half equations:
Mg2+(aq) + 28 — > Mgy E¥= -237V
n**gq) + 28 —» Ing EY = —0.76V
(i) Obtain an equation of the cell reaction. (1 mark)
(ii) Calculate the E? value for the cell. (1 mark)
(iii) Give the oxidizing species. (1 mark)
13. Using dots (*) and crosses (x) to represent outermost electrons; draw diagrams to showbonding in:
(a) Aluminium chloride. (1 Y2 marks)
(b) Sulphuric (IV) oxide. (1 Y2 marks)
14. Use the information in the table below to answer the questions that follow.
Melting point Element Atomic number
97.8 R 11
660 S 13
1440 T 14
-40.1 U 17
63.1 \% 19
(a) Write the electron arrangement of: (1 mark)
(i) 10) 8 10
(ii) atomM Of T e e e
(b) Explain why the melting point of T is higher thar’that of U. (2 marks)
15. Complete the table below. (3 marks)
Metal Aluminium Lead Sodium
Chief ore Bauxite Rock salt
Chemical name
Method of extraction reduction
16. The diagram below represents.a’set up used for the large scale manufacture of hydrochloric acid.
: <+— Water
L_*I—b Hydrochloric acid
(a) Name substance X. (1 mark)
(1 mark)

(b) What is the purpose of the glass beads?
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1. (a) Define an electrolyte. (I1mark)
(b)The set-up below was used to carry out electrolysis of an aqueous solution of magnesium sulphate using carbon electrodes.

Beaker

{— Magnesium sulphate

el solution

(i) State and explain the observation made at the cathode. (2 marks)
(ii)) Write down an equation for the reaction that occurs at the anode. (Imark)

(iii) What change occurred to the concentration of magnesium sulphate solution during'the experiment? Explain. (3 marks)
(c) During the electrolysis of dilute copper (II) chloride, the mass of the platinum eathode increased by 3.2g. If a current of 2.5
amperes was passed through the solution for some time, calculate the time taken. (Cu= 64.0; 1 faraday = 96,500 Coulombs)

(3 marks)
(d) Use the information below to answer the question that follows.
AP'(aq) +3e- — Al(s) E®=- 1.66v
Fe*' (aq) + 2¢” SFe(S) E® =-0.44v
Why is it not advisable to keep a solution of iron (II) nitrate in a container made of aluminium? (2 marks)
(e) Other than electroplating, give one application of electrolysis. (1 mark)
2. a) Draw the structural formula of . (3 marks)
(i) Propan-1-ol
(ii) Pent-2-yne
(iii) 2,3-dimethylbutane
(b) Study the reaction scheme below and answes‘the questions that follow.
Glucose
Ha g /Nickel Conc.H,S0, y stenl
Je——— Ethene - Ethanol
Step Il
Step I Acidified
KMnO,
v
K
(i) ‘"Name the process in step | (1 mark)
(ii) Give the two conditions necessary in step 11 (2 marks)
(iii) State the observation made in step II1. (1 mark)
(iv) Name compound J. (1 mark)
(v) Draw the structural formula of compound K. (1 mark)
(c) Water is added drop wise to calcium carbide in a conical flask.
(i) Identify the gas produced. (1 mark)
(i) Write a chemical equation for the reaction that occurs. (1 mark)

(d) Part of a polymer is required below.
H H H H
[
—C—C—C—C—
L

Page | 230




Chemistry 223/1,2,3

(@)
(i)
3.

(@)
(b)
(©)
(d)
(e)
(H
(2
(h)

Draw the structural formula of the monomer of this polymer. (1 mark)
State one use of this polymer. (1 mark)
The grid below represents part of the periodic table. Study it and answer the questions that follow. The letters are not the

actual symbols of the elements.

R X

\Y%
Select an element whose oxide is amphoteric. (1 mark)
On the grid indicate with letter J the position of element J which is in period 3 and forms a stable ion J*. (1 mark)
Draw a dot-cross diagram to show bonding in the compound consisting of elements V and X only. (2 marks)
Write an equation to show the formation of an ion by R. (1 mark)
Which is the least reactive element? Give a reason for your answer. (2 marks)
Write an equation for the reaction that occurs when element Y is placed in water. (1 mark)
How does the atomic radius of W compare with that of V? Explain. (2 marks)
Name the chemical family to which elements R and V belong. (1 mark)

4. a) Use the chart below to answer the questions that follow.

Iron | GasN -+ Lead (I1) » Solid M
oxide /heat
+ +
Solid P Liquid L

Identify:

Gas N (Y2 mark)

Solid P (%2 mark)

Solid M (*2 mark)

Liquid L (2 mark)
b) Name the method that can be used to extract oil from castor oil seeds. (1 mark)
c¢) i) Inthe method named above, state the propertyof oil that enables the extraction to take place. (1 mark)

ii) Describe an experimental procedure that can be used to extract oil from the seeds. (3 marks)
d) How is phosphorus stored in the laboratory2/Explain your answer. (1 mark)
e) i) Inthe fractional distillation of liquid@ir'some substances must be removed, name two substances removed. (1 mark)

ii) Why must the substances named in (i) above be removed? (1 mark)

iii) State the processes involved in fractional distillation of liquid air. (2 marks)

5. Study the flow chart below showing'the Solvay process and use it to answer the questions that follow.

Brine

v

Ammoniaahbsorber

hJ

CO(g)
Limestone — | Heat ? Carbonator
Cao(s) NH.Cl {as)

1

NH;

y ' —» X
[ recovery/heat
NBHC.gis‘ ry

_

Ca(®H};
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a)

<)
d)
e)
)

S

)
if)

iii)

b)
<)

Write the equation for the reaction producing substance X. (1 mark)

Name processes Y and T. (1 mark)
In the carbonator, two reactions take place. Write the two equations for the reactions. (2 marks)
Explain why the Solvay process is said to be one of the most efficient industrial process. (2 marks)
16.8g of sodium hydrogen carbonate are completely decomposed by heating. Calculate;

the mass of the resulting solid produced. (2 marks)
the volume in litres of the gas produced at s.t.p (2 marks)
(Molar Gas Volume at s.t.p =22400 cm’, Na=23.0, C=12.0, H= 1.0, 0=16.0)

Give two industrial uses of sodium carbonate. (2 marks)

a) An experiment was done using magnesium ribbon and dilute hydrochloric acid of different concentrations. The time
needed to produce 50cm3 of the gas for every experiment was recorded in the table below.

Concentration of HCI in mol/Litre 2.0 1.75 | 1.50 | 1.25 1.00 | 0.75 0.50 | 0.25
Time in Sec (s) 8.8 100 | 11.7 | 13.5 17.5 | 22.7 35.5 | 70.0
Rate="/, Sec ™'
Complete the table above. (2 marks)
Plot a graph of rate ('/time) against concentration. (3 marks)
Determine from your graph the concentration needed to produce 50cm’ of hydrogen gas, when time is 15 seconds.
(1 mark)
Apart from concentration, state two other factors that may affect the rate of chemical reaction. (2 marks)
i) State Le Chatelier’s principle. (1 mark)
ii) Given the equation below;
Br; (aq) + H20 (1) OBr-(aq) + Br-(aq) + H* (aq)
(Yellow-orange) (colourless)
State and explain the observation made when dilute hydrochloric acid is added to the‘bromine water. (2 marks)

7. The diagram below shows the electrolysis process in the extraction of aluminium. Study it and answer the questions that follow.

b)
<)

d)

\—- Alumidiun

outler
i) Name the main ore from which aluminium is extracted from. (1 mark)
ii) Explain how the impurities present'in the ore are removed. (3 marks)
Label on the diagram the anode and-th¢ cathode. (1 mark)
The melting point of aluminium oXide is 2015°C but the electrolysis is carried out at temperature of around 800°C.
i) Why is the electrolysis notcarried out at 2015°C? (1 mark)
ii) How is the temperature lowered to about 800°C? (1 mark)
Duralumin (an alloy of aluminium) is preferred to pure aluminium in the construction of aeroplane bodies. Give two
properties that make it suitable for making the aeroplane bodies. (2 marks)
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1. Element T has an atomic number 19.
a) State the type of bonding that exists in T. (1 mk)
b) In which group and period of the periodic table does element T belong? Give a reason. (2mks)
2 (a) Complete the nuclear equation below by finding the value of M and N (2 mks)

216pg — 208Ph + M o +N
b) 288gofa radioactive substance decayed to 9g in 40 days. Determine the half life of the radioactive substance . (2mks)
3. During a class experiment , chlorine gas was bubbled into a solution of potassium iodide.
a) State the observation made. (1mk)
b) Using an ionic equation, explain why the reaction is redox. (2mks)

Clag) + 2l'ag) = 2CTag) + L)
4. Graphite is one of the allotropes of carbon
a) Define allotropy. (Imk)
b) Name one other element which exhibits allotropy. (1mk)
5. a) State Gay Lussac’s law. (1mk)

b) 10 cm’ of a gaseous hydrocarbon, C, H, required 30cm3 of oxygen for complété combustion. If steam and 20cm’ of

carbon (iv) oxide were produced, what is the value of x. (2mks)
6. The diagram below shows bonding between aluminium chloride and ammonia
H CI
H N » AF-Cl
H Cl

a) Name the type of bonds that exists in theimolecule. (1mrk)
b) How many electrons are used for bonding the molecule. (1mrk)
6. Use the following information on substances S, T, v and hydrogen to answer the questions that follow.
i) Tdisplaces V from a solution containing V ions.
ii) Hydrogen reacts with heated.oxide of S but has no effect on oxide of V.

a) Arrange substances S;T,V and hydrogen in the order of increasing reactivity. (2mks)

b) If T and V are divalent metals, write an ionic equation for the reaction in (i) above. (Imk)
7. The empirical formula of A is CH2Br. Given that 0.470 g of A occupies a volume of 56 cm® at 546k and 1 atmospheric

pressure, determine its molecular formula .( H= 1, C= 12, Br = 80, molar gas volume at s.t.p =22.4 dm’).
8. State and explain what would happen if a dry blue litmus paper was dropped in a gas jar of chlorine. (2mks)
9. Study the flow chart below and answer the questions that follow

Heat
Yellow substance Y 5 > 7 »l Green solution
2
Water w

Solution MpH =5
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Identify Zand M (2mks)
10. Draw and name the isomers of pentync . (3mks)
11. 100cm’ of a sample of ethane gas diffuses through a porous pot in 100 seconds. What is the molecular mass of the gas Q if
100cm’ of the gas diffuses through the same porous pot in 121 seconds under the same conditions?. (C =12 H=1) (3mks)
12. Study the table below and answer the questions that follow.

Bond Bond energy KJ I MOL
C-H 414
CI- CI 244
C-CI 326
H-CI 431
a) Calculate the enthalpy change of the reaction (3mks)

CHyp +2Clyg - CH;Clyy +2HClg
13. Hardness in water is caused by dissolved salts

a) Which cations cause water hardness? (Imk)
b) Explain how the apparatus below soften hard water (2mks).
lHard water

B

NaT, Nat
\ — Ionexchange column
Na Na*t

Nat Nat

Soft water

14. Below are pH values of some solutions
Solution z y X w
PH 65 135 22. 172
a) Which solution is likely to be :

i)  Acidic rain (1/2mk)

ii) Potassium hydroxide (1/2mk)
b) A basic substance V reacted with both-solutions Y and X . What is the nature of V? (Imk)
c) Identify two substances that show the'characteristics in question (ii) above. (1mk)

15. The set-up below was used to obtain a sample of iron

Carbon Excess iron (III) oxide
Oxygen 7
— GasM
\
a) Identify gas M. (1 mk)
b) Write two equations for the reactions which occur in the combustion tube. (2mks)
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16. The formula given below represents a portion of a polymer

H P =
l IC.“ g, C'/ —
P - f\ b

o 7Y

a) What is the name of this polymer

g

b) Draw the structure of the monomer used to manufacture the polymer.

c) Give one use of the polymer given in the real life.
17. Name the process that takes place when
a) Fe®' changes to Fe'"

b) A white sugar changes to black solid when mixed with excess concentrated sulphuric acid.
¢) A hydrated salt loses the water of crystallization when exposed to the atmosphere.

(1mrk)
(Imrk)
(Imrk)

(Imrk)
(Imrk)
(Imrk)

18. Study the information in the table below and answer the questions that follow the letters do not represent the actual symbol.

Elements of stable ion Electron arrangement Atomic radius(nm) lonic radius(nm)
A 2.8.8 0.197 0.099
B 2.8.8 0.99 0.181
C 2.8 0.16 0.065
D 2.8 0.186 0.095
E 2 0.152 0.068
F 2.8 0.072 0.136

a) Identify the elements that belong to the third period of the periodic table.
b) Arrange the elements that you have identified in (i) above as they follow each other in the third period.

c) Iselement F a metal or non- metal? Explain your answer .

(Imk

(2mks)

19.The graph below shows volume of hydrogen gas collected with against time taken when a magnesium Ribbon was reacted with

2M hydrochloric acid

'y

Volume offH,
produced

Time (seconds)

a) On the same axis sketch the curve obtained when 2cm magnesium ribbon was reacted with 2M ethanoic acid.

I
L

b) Write an equation for the reaction between ethanoic acid and magnesium.
¢) How would powdering of magnesium affect production of hydrogen?.

20. A form one student set-up the apparatus as shown below.

a) Name the flame used in the experiment above.

d) There was a flame produced at the end of the glass tube. Explain.

¢) Name the parts labelled A & B.

( 1mk)

(Imk)

(Imk)
(1mk)
(1mk)

21. When a burning magnesium ribbon is lowered in a gas jar full of carbon (iv) Oxide , it continues to burn forming a white Ash

and black specks on the side of the gas jar.
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a) Name
i) White ash (Imk
ii) Black specks (Imk)
b) Write an equation for the reaction that takes place. (Imark)

22. A form two student set-up the apparatus as shown below to investigate properties of hydrogen gas. Study it and answer the
questions that follow.

A AN
ke at
a) Identify the property of hydrogen that was being investigated. (Imk)
b) State the observations that were made in the combustion tube. (1 mk)
c) Other than hydrogen gas, name two other gases that can be used in the above set-up to serve the same purpose as hydrogen.
(2mks)
23. The flow chart below shows the processes involved in the industrial extraction of zinc metal
Air
Ore — | Unitl |—» SO,
Coke » Unit?2 p Gases
Zinc metal
a) Name the ore from which zinc is extracted on the above diagram. (Imk
b) Write the equation for the reaction taking place in unit 1. (Imk)
e) Name two uses of zinc metal. (Imk)
24.The diagram below represents the extraction of sulphur by frasch process
Pt tumpie s<ed) Gav
N
I
_‘l|._.
=i el R
oA M

a) Name the substances that pass through

Tube 1 —

Tube 2 —
b) What is the name given to the process above? (Imk)
¢) What is the purpose of hot compressed air in the process (Imk)
25. a) Give areason why concentrated sulphuric (IV) acid is not used to dry ammonia gas. (Imk)

b) Name one suitable drying agent for ammonia gas. (Imk)
26. Explain the following
a) Atomic radius of alkali metals increase down the group. (Imk)
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INSTRUCTIONS:

Answer all the questions_in the spaces provided.

1. (a) Below is a diagram of the set-up of apparatus used to investigate the products of combustion of candle wax in an
experiment. i

(i) State and explain the observations made in the u-tube. (2mks)

(ii) Name the liquid formed when the candle burns. (1mk)

(iii) What would be observed in the test tube containing lime water? Explain. (2mks)

(iv) What conclusion can be made from this experiment about what composes of a eardle wax.

(v) Write an equation for the chemical equation for the combustion of candle wax. (C<Hy) (Imk)

b) Hydrogen gas was passed over copper (II) oxide in a combustion tube as follows;

(i) What property of hydrogen gas makes-this reaction possible? (2mks)
(ii) What would you expect to happen,df'magnesium oxide was used instead of copper(Il) oxide? (1mk)
(iii) Write an equation for the reaction taking place in the combustion tube.

2.

The diagram below shows some processes that takes place during the industril manufacture of sulphuric (VI) acid.

Converter

Lead sulphide > Purification > Heat exchange
Water >
ArEscaping gases
y
+ <+——Chamber G
To storage - Liquid
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(c) Step VI
(V) Give the reagent and conditions necessary for step VI. (2mks)
Reagent
Conditions
b) (i) Name the following structures of an organic compounds. (2mks)
H H H (0]
H — ¢ ¢ .
H —— H H OH
i1) H H I|—I H H H
| | | | I
H— C C C C |C C OH
| | | | |
H H H H H H
Draw one of the structures of an isomer of pentene. (Imk)

5. The extraction of aluminium from its ore takes place in two stages, purificationstage abd electrolysis stage. The diagram
below shows the set up for the electrolysis stage.

v

U
" N E
| | S
(a) (i) Name the ore from which aluminium extracted. (Imk)
ii) Name one impurity which is removed at the purification stage. (1mk)
(b) i) Label on the diagram each of the following; (3mks)

(I) Anode
(IT) Cathode

(IIT) Region containing theglectrolyte
ii) The melting point of aluminium oxide is 2054°c but electrolysis is carried out between 800-900°C.
() Why is the electrolysis not carried out at 2054°C? (2mks)
(I  What is done to lower the temperature? (Imk)
(1) The aluminium which is produced is tapped off as a liquid. What does this suggest about its melting point. (1mk)

¢) A typical electrloysis cell uses current of 40,000 ampheres. Calculate the mass in kilograms of aluminium produced in one
hour. (Al =27, i faraday = 96,500 coulombs) (3mks)

6. In the laboratory, small quantities of nitric (V) acid can be generated using the following set up. Study it and answer the
questions that follow;

(a) (i) Give the name of substance R. (Imk)
(ii) Name one other substance that can be used in place of sodium nitrate. (Imk)
(b) Explain the following;
(I) It is not advisable to use a stopper made of rubber in the set up. (1mk)
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(IT) The reaction between copper metal with 50% nitric (V) acid in an open test tube produces brown fumes. (Imk)
(c) (i) Nitrogen is one of the reactants used in the production of ammonia, name two sources of the other reactant. (2mks)
(ii) A factory uses nitric (V) acid and ammonia gas in the prepartion of a fertiliser if the daily production of the fertilizer is
4800kg. Calculate the mass of ammonia gas used in Kg. (N=14, O=16, H=1) (3mks)
iii) State two other uses of Nitric (V) acid other than production of fertilizers. (2mks)
7. (a) The table below gives reduction potentials obtained when the half cells for each of the metals represented by letters
J,K,L,M and N were connected to a copper half cell as the reference electrode.

Metal Reduction potential (volts)
J -1.10
K -0.47
L 0.00
M +0.45
N +1.16
(D What is metal L likely to be? Give a reason. (2mks)
(I  Which of the metals cannot be displaced from the solution of its salt by any other metal in the table? Give a reason.
(2mks)
(1) Calculate the e.m.f of the cell formed by connecting half cells of N and J. (2mks)
b) Metal K and M were connected from a cell as shown in the diagram below;
Metal K :;:::-:-:-:-:-:-:-:-:-:-:-:-:-:-:-:-:-:-:-:-:-:-:—:-:—:;E;i Metal M
Salt bridge I E. 1
| SR
P
Write the equation for the half cell reaction that oceur at:
Metal (K) electrode. (Imk)
Metal M electrode (Imk)
(a) If the salt bridge is filled with saturated sédium nitrate solution. Explain how it helps to complete the circuit. ~ (2mks)
(b) State one application of electrolysis iiindustries. (Imk)
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INSTRUCTIONS

ATTEMPT ALL THE QUESTIONS
Q.1The set up below can be used to prepare oxygen gas. Study it and answer the questions that follow.

a) Identify X (Imark)

b) What property of oxygen makes it possible for it to be collected as show#’in the above set up. (1mark)

c) State two uses of oxygen. (1karm)
2. Write an equation to show the effect of heat on each of the following:

a) Silver nitrate ( Imk)

b) An hydrous iron (ii) sulphate ( Imk)

¢) Sodium hydrogen carbonate . ( 1mk)
3. i) What name is given to the process by which alcohol isfermed from a carbohydrate.?. (1mk)

ii) Explain why the solubility of ethane in water is lower‘than that of ethanol. (2mks)
4. i) Complete the nuclear equation below (1mk)

B o iXe+
i) The half —life of 3%/ is 8 days
Determine if 50 grammes decayed for 40.-days. (1mk)

iii) Give one agricultural use of radio isotope. (Imk)
5. Charcoal is a fuel that is commonly used’for cooking. When it burns it forms two oxides.

a) Name the two oxides. (2mks)

b) State one use of any of the two oxides. (Imk)

6. Anelement X has a relative atomic mass of 88. When a current of 0.5 amperes was passed through a fused chloride of X for

32 minutes, 10 seconds; 0.44g of X was deposited.

i)

ii) Write the formula of hydroxide of X. (IMK)

Determine the charge:of element X (1 Faraday = 96,500c).

8. Study the following flow chart and answer the questions that follow:

Process T

Alcohol R »{ Ethane

HCI ()

Conc. H2804(1)

a) Write the formula of

i)
ii)

Alcohol R (Imk
Compound S (1mk)

b) Name process T (1mk)
8) 60cm’ of oxygen gas diffuses through a porous plug in 50 seconds. How long will it take 80cm’of sulphur ( iv) oxide to

diffuse through the same plug under the same conditions. (S=32 O =16)

Compound S

(2mks)

(3mks)
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b) Determine the molecular formular of the hydrocarbon.

22. In terms of structure and bonding, explain the following observations:
a) The melting point of aluminium is higher than that of sodium.

24.

25.
26.
27.

a)
b)

28.

b) Melting point of chlorine is lower than that of sulphur.
23. The set up below was used to investigate the reaction between dry hydrogen gas and copper (II) oxide.

mffﬁ"@ o

i) Name substance A.

ii) State the observation made in the combustion tube.

iii) Explain the observations made in ( ii) above.

Hydrogen chloride gas can be prepared by reacting sodium chloride with an acid.
a) Write an equation for the reaction between sodium chloride and the acid.

b) Give two chemical properties of hydrogen chloride gas

¢) State two uses of hydrogen chloride gas.

State and explain what would happen if a dry red litmus paper was dropped in a gas jar of dry Chlorine.
By using aqueous sodium chloride describe how a student can distinguish calcium ions from lead ions.
Given the following substances: wood ash lemon juice and sodium chloride

(2mks)

(1 % mks)
(1 % mks)

(1 mk)
(Imk)
(1 mk)

(1mk)
(Imk)
(1mrk)
(2mks)
(2mks)

Name one commercial indicator that can be used to show whether wood, lemon juice and sodium chloride are acidic,

basic or neutral.

Classify the substances in 27(a) above as acids, bases or neutral.

Acid

Base

Neutral

(1mk)
(2mks)

A solution was made by dissolving 8.2g of calcium nitrate to give'2 litres of solution. Determine the concentration of nitrate

ions in moles per litre.

(3mks)
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(I) Construct an electrochemical cell that will produce the largest emf. (3mks)
(I) Calculate the emf of the cell constructed in (i) above. (2mks)
(111) Why is it not advisable to store a colution containing J* ions in a container made of G? (2mks)

b) Below is a simplified electrolytic cell used for purification of copper. Study it ans answer the questions that follow;

(i) Identify: (Imk)
Anode
Cathode
(ii)) Write down the equation for the recation at the anode. (1mk)
(iii) What name is given to L? (1mk)
(iv) A current of 0.6A was passed through the electrolyte for 3 hours. Determine the amount of copper deposited.
(CU=63.5, Faraday = 96500 Coulombs) (3mks)
(v) State two uses of copper metal. (2mks)
4. a) What is meant by molar enthalpy of combustion? (Imk)
b) State the Hess’s law. (1mk)

c) Use the following standard enthalpies of combustion of graphitehydrogen and enthalpy of ormation of propane.
AH? (Graphite) = —393K/Mol™!
AHE (H, (5)) = —286K]/Mol™*
AH? (CyHg (5y) = —104K]Mol™

(i) Write down the equation for the formation of propane; (Imk)

(ii) Draw an energy cycle diagram to show the relationship between the heat of formation of propane with its heat of combustion
and the heats of combustion of graphite and hydrogen. (3mks)

(iii) Calculate the standard heat of combustion of propane. (2mks)

d) Other than the enthalpy of combustion, state one facctor whch should be considered when choosing a fuel. (1mk)

e) The molar enthalpies of neutralization“for dilute hydrochloric acid and dilute nitric (v) acid are -57.2KJMol" while that of
ethanoic acid is -55.2Kjmol ™. Explain this observation. (2mks)

5. The diagram below shows industtial preparation of ammonia and the process used in manufacture of nitric(v) acid.

Solution P Air
Electrolysis
Step I —
Hydrogen
Step 3
| Ammonia |
¢ Stepd

‘ Nitrogen {11} oxide |

Step 5, low Temperature

L]

Nitric (v} acid

Page | 267




Chemistry 223/1,2,3

)

Identify solution P.

(Imk)

(1) Excess air was used in step 4. What other conditions are necessary in step 4 inorder to produce nitrogen (II) oxide?

(1) The eqaution for the reaction in step 5 is

(1v) Draw a diagram to show how nitric (v) acid can be prepared by dissolving nitrogen (iv) oxide in water.

2NOyy) + Oy ===—==== 2NO,AH = -114Kjmol .
Explain why low temperatures are used in this step.

(1mk)

(1mk)
(1mk)

(V) The nitric (v) acid produced is only 50% concentrated. Explain how you can increase the concentration of the acid.

(1mk)

(vI) State and explain the observations that would be made is a sample of red hot charcoal is heated with Nitric (v) acid.

(vir) Describe the process that takes place in step 2.

(VIID)

(1X) Name the gas produced when ammonium nitrate is heated.
In the haber process, nitrogen and hydrogen react according to the following equation at a temperature of 450°C and a

b)

(@)
(i)
6.

pressure of 200 atmospheres.
N2(g) + 3HZ(g) —_— 2NH3(g) AH = -92KJ

Explain how the yield of ammonia would be affected if the pressure was decreased.
Give one use of ammonia.

Study the flow chart below and answer the questions that follow;

Write a chemical equation showing how ammonium nitrate would be produced in the set-up above.

Solution E | Sodjum hydroxide| White precipitate

Solution Q Step I P

Excess NaOH Calourless Solution

Excess | Ammonia solution Step 2] HCL
A

4

Y

White precipitate K

Colourless solution

(@)
(@)
(i)
(b)
(©)
(d)
(e)

(a)
(b)
(©)
(d

Identify:

Metal ions in solution F.

White precipitate K.

Write down the formula of the ions in s@lution P.

Explain how anions of solution Q could be tested in the laboratory to be sulphate.
What is double decomposition?

Describe how you would prepare’sodium nitrate crystals starting with 200cm’ of M nitric(v) acid.

The set up below was used.to*prepare and collect dry hydrogen gas.

Zinc Granules
c
Complete the diagram to show how dry hydrogen gas is collected.
Identify substance X.
Explain how hydrogen gas is tested in the lab.
State two uses of hydrogen gas.

(2mks)

(Imk)

(1mk)
(1mk)

(2mks)
(1mk)

(1mk)
(1mk)
(1mk)
(2mks)
(1mk)
(3mks)

(2mks)
(1mk)
(1mk)
(2mks)
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a) Distinguish between nuclear fission and nuclear fusion. (2mks)
b) 100g of a radioactive substance were reduced to 12.5g in 15.6 Years .Calculate the half-life of the substance
(2mks)
a) The electronic arrangement of ion of element Q is 2: 8: 8. If the formula of the ion is Q°, state the group and period to
which Q belongs . (2mks)
b) Helium, neon and argon belong to group 8 of the periodic table:
i)  The general name of the element. (Imk)
ii) One use of these elements (Imk)
a) Name the products formed when ammonia is burned in air in absence of a catalyst. (1mk)
b) Write the equation for the above reaction. (Imk)

A sample of water did not lather easily with soap solution. A second sample of water was first boiled and soap solution
added. This second sample did form lather easily either.

i)  What type of water hardness is present in this water. (Imk)

ii) What substances are probably present in this water. (2mks)
Study the information in the table below and answer the questions that follow.

Solubility g/100g of water
At 40° At 60°
28 38
79 98
A mixture containing 35g of CuSO, and 75g of Pb(NO; ), in100g of water at 60" was cooled to 40°C .
a) Which salt crystallised out. Give a reason (2mks)
b) Calculate the mass of the salt that crystallized out, (Imrk)
a) State any two types of flames that you know (2mks)
b) Explain how the hotness of Bunsen burner flame can be increased. (Imk)
a) Using dots () and crosses ( X) to represent outermost electron , draw diagrams to show bonding in CO,and H;0"
(Atomic number H= 1, , C=6 0=8) (3mks)
b) What type of bond is formed when lithium and fluoringreact?. Explain. (2mks)

(Atomic number Li=3 and F =9)
a) Name the organic compound formed when CH;CH, CH,CH,OH is reacted with concentrated sulphuric (VI) acid at

170%. (1mk)
b) In presence of u.v light, ethane gas undergdes substitution reaction with chlorine.
i) What is meant by the term: substitution-réaction. (Imk)
ii) Give the structural formula and the name of the organic product formed when equal volumes of ethane and chlorine
react together. (2mks)

Hydrogen Chloride gas was passed-into water as shown below.

PN/ e B
HCL e s

~ f:/ Water
/,‘i_;ﬁr

a) Explain why the PH of the solution is below 7. (Imk)
b) What is the use of inverted funnel ? (Imk)
The equation below represents a redox reaction-

Mg(s) + HC](aq) _ MgClz(aq) +H2 (@

a) Write down the equation for the reduction process. (Imk)

b) Which substance is oxidized. (Imk)

c¢) What is a redox reaction. (Imk

Name the process which take place when

a) Solid carbon (IV) oxide (dry ice) changes directly into gas (1mk)

b) A red litmus paper turns white when dropped into chlorine water (Imk)

c) Propene gas molecules are converted into a giant /molecule. (Imk)

a) By using only dilute hydrochloric acid, describe how a student would distinguish between barium Sulphite from barium
sulphate. (2mks)

b) State and explain what would happen is a dry litmus paper was dropped in a gas jar of chlorine (1mk)

a) Distingush between exothermic and endothermic reactionl
b) When pure water is heated atl atmospheric pressure at sea level, the temperature of the water does not rise beyond 100°
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C ,even with continued heating. Explain this observation . (2mks)
14. Hydrozine gas burns in oxygen to form nitrogen gas and steam

a) Write an equation for the reaction. (Imk)
b) Using the bond energies given below, calculate the enthalpy change for the reaction above

Bond Bond energy KJ per mole

N= N 944

N- N 163

N- 4 388

0=0 496

H- O 462 (2mks)

15. a) Under certain conditions , carbon (IV) Oxide reacts with water to form methanol CH;OH and oxygen as
Shown below 2CO,, +4H,0 Z=22CH; OH +30, HAI452k]
What would be the effect on the yield of methanol if the temperature of the reaction mixture is increased? Explain.

(2 mks)
b) i) State the Le chatelier’s Principles ( 1mk)
ii) Carbon (II) Oxide gas reacts with steam according to the equation.
CO@p. +H0 = Hyg + COx
What would be the effect of increasing the pressure of the system at equilibrium?.
Explain (2mk)
16 a) Explain why burning magnesium continues to burn in a gas jar containing sulphur (IV) ©xide while a burning splint is
extinguished. (3mks)
b) Write an equation for the above reaction. (1mk)

17. When steam was passed over heated charcoal as shown in the diagram below, hydiogen and carbon (II) Oxide were formed.

b) Name two uses of Carbon (II) oxide gas , which are-also uses as hydrogen gas. (2mks)
c) Interms of structure and bonding, Explain why graphite is used as a lubricant. (2mks)
18. The set up below was used to collect gas F produced by the reaction between water and calcium metal

i) Name gas F. (1mk)
ii) At the end of the experiment, the solution in the beaker was found to be a weak base. Explain why. (2mks)
iii) Give one laboratory use«0f the solution formed in the beaker. (Imk)
iv) What is the role of carbon (IV) oxide in fire extinguishing. (Imk)

19. A given volume of Ozone (O3) diffused from a certain apparatus in 96 seconds. Calculate the time taken by an equal volume
of carbon (iv) oxide (CO,) to diffuse under the same conditions.

(0=16,C=12) (3mks)
20. Explain how you would obtain solid sodium carbonate from a mixture of lead carbonate and sodium Carbonate powders.
(3mk)

21) 15CM’  of ethanoic acid ( CH;COOH) was dissolved in water to make 500cm’ of solution . Calculate the Concentration of
the solution in moles per litre.

C=12 H=1, 0= 16 density of exthenoic acid is 1.05g/( cm® ). (3mks)
22. Starting from solid magnesium oxide, describe how a solid sample of magnesium hydroxide can be Prepared. (3mks)
23. a) What is meant by the term radical. (1mk)
24 .The table below contains atoms that formed from various atoms that form common radicals complete the table to show
radicals formed from various atoms. (3mks)
Element N
H NH",
O
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b)

a) A candle wax is mainly a compound consisting of two elements. Name the two elements.

b)

i) What would happen to the burning candle if the pump was turned off? (2mks)
ii) State and explain the changes in mass that are likely to occur in tube N by the end of thé eéxperiments. (3mks)
iii) Name two gases that comes out through tube M. (2mks)
iv)  What is the purpose of calcium chloride in tube L? (Imk)
v) Name another substance that could be used in the place of calcium oxide in tube’N. (Imk)

a) The grid below represents part of the periodic table. Study it and answer thezguestions that follow. The letters are not the
actual symbols of the elements.

A D | | B C
E F G

H 4 4

i)  Select the most reactive metal. Explain. (2mks)

ii) Select an element that can form an ion with a charge of 3-. (Imk)

iii) Select an alkaline earth metal. (Imk)

iv) Which group I element has the highest first ionization energy? Explain. (2mks)

v) Element A combine with chlorine to form a chloride of A. state the most likely PH value of a solution of a chloride of A.
Explain. (2mks)

i)  Explain why molten calcium chloride.and magnesium chloride conduct electricity while carbon tetrachloride and silicon
tetrachloride do not. (2mks)

a) Distinguish between a neutron and a proton. (1mk)

b) What is meant by a radioactiveé-substance? (1mk)

c) Differentiate nuclear fussion’and nuclear fission. (2mks)

d) State two industrial uses of radioactive elements. (2mks)

e) The two isotopes of hydrogen deuterium (3D) and tritium (3T) reacts to form element Y and neutron particles according
to the equation below:

(1D) + (3T) = (5Y) + (on)
(i) What is the atomic; (2mks)
() Massof Y
(I1) Number of Y
(ii)) What name is given to the type of reaction undergone by the isotopes of hydrogen? (Imk)
(iii) What is meant by half life of a radioactive substance? (1mk)

f) 288g ofaradio active substance decayed to 9 grammes in 40 days. Determine the half life of the radio active substance.

(2mks)
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